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Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529151
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2105295014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Phrase T-L model of teaching implies that

1. Teaching and learning are independent acts

2. Teaching and learning are integrally related acts
3. Teaching aims at learning

4. Teaching causes learning

Options :

21052919801. 1

21052919802. 2

21052919803. 3

21052919804. 4

Question Number : 1 Question Id : 2105295014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052919801. 1

21052919802. 2

21052919803, 3

21052919804, 4

Question Number : 2 Question Id : 2105295015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

From the following list of learner characteristics, identify those which are associated with ‘field
independent’ learners

A. Focuses on facts and principles

B. Perceives global aspects of concepts and materials

C. Prefers and likes to compete

D. Can organize information by himself/herself

E. Likes to cooperate

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3. A, Cand D only
4. C, D and E only



Options :

21052919805. 1
21052919806. 2
21052919807. 3
21052919808. 4

Question Number : 2 Question Id : 2105295015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052919805 1
21052919806. 2
21052919807. 3
21052919808. 4



Question Number : 3 Question Id : 2105295016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are said to be style-related competencies of an effective teacher?
A. Organized demeanour which means being orderly, clear and in control

B. Literacy which implies general knowledge as well as good at reading and writing

C. Self-efficacy which refers to a person's self-perceived capacity to perform a task

D. Flexibility which means being sensitive and lenient

E. Evaluating and providing feedback

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3. Cand D only
4. D and E only
Options :
21052919809. 1
21052919810. 2
21052919811. 3
21052919812. 4

Question Number : 3 Question Id : 2105295016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052919809. 1
21052919810. 2
21052919811. 3
21052919812, 4

Question Number : 4 Question Id : 2105295017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11
Scale of measurement Properties
A. Nominal I. Classification and order
B. Ordinal 1. Classification, order and equal units
lIl. Classification, order, equal units and absclute
C. Interval
zero
D. Ratio V. Classification only

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-IL,B-LC-IV,D-IlI
JA-NLB-ILC-IV,D-I
4 A-IV,B-LC-1I,D-1I
Options :

21052919813. 1
21052919814. 2
21052919815. 3
21052919816. 4

Question Number : 4 Question Id : 2105295017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-1L,B-ILC-I,LD-1V
ZA-1,B-1L,C-1V,D-1l
JA-ILB-ILC-IV,D-I
4 A-IV,B-1LC-1I,D-1I
Options :

21052919813. 1
21052919814. 2
21052919815. 3
21052919816. 4

Question Number : 5 Question Id : 2105295018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Use of ICT is justified during teaching with a view to optimize learning outcomes

Reason R: Learning outcomes are contingent on use of ICT during teaching

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052919817. 1

21052919818. 2

21052919819. 3

21052919820. 4

Question Number : 5 Question Id : 2105295018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052919817. 1

21052919818. 2

21052919819. 3

21052919820. 4

Question Number : 6 Question Id : 2105295019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A teacher proposes to find out the effect of praise and encouragement during a teaching-
learning session based on Skinner's theory of reinforcement. What type of research will it
belong to?

1. Fundamental research
2. Evaluative research

3. Action research

4. Applied research
Options :

21052919821. 1



21052919822. 2
21052919823. 3
21052919824. 4

Question Number : 6 Question Id : 2105295019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052919821. 1
21052919822. 2
21052919823. 3
21052919824. 4

Question Number : 7 Question Id : 2105295020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement I: All research adds to the corpus of knowledge by advancing a theory

Statement lI: The focus of action research is basically on the amelioration of prevalent
practices

In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

21052919825. 1

21052919826. 2

21052919827. 3

21052919828. 4

Question Number : 7 Question Id : 2105295020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052919825. 1
21052919826. 2
21052919827. 3
21052919828. 4

Question Number : 8 Question Id : 2105295021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List II
Key research terms Description
A. Research problems I. Devices using which data are gathered

B. Research hypothesis
P II. & subset drawn from a defined set or universe

I1l. & tentative solution or answer to a research
C. Sample of study .
question

V. The research question which has to be
D. Research tools

answered

Choose the correct answer from the options given below:

TA-IV,B-IILC-1,D-|
ZA-ILB-ILC-1,D-IV
FA-,B-ILC-IILD-V
4 A-IILB-IV,C-1,D-1
Options :

21052919829. 1
21052919830. 2
21052919831. 3



21052919832. 4

Question Number : 8 Question Id : 2105295021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,B-NLC-1LD-I
ZA-ILB-ILC-1L,D-V
3A-L,B-ILC-lILD-V
4 A-IILB-IV,C-LD-I
Options :

21052919829. 1
21052919830. 2
21052919831. 3
21052919832. 4

Question Number : 9 Question Id : 2105295022 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question



Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Arrange the steps in a hypothetico-deductive research in the correct sequence
A. Identifying and defining a research problem

B. Defining the population and drawing a sub-set therefrom

C. Data collection using appropriate research tasks followed by data analyses
D. Hypothesis formulation and developing a design of research

E. Taking a decision on the substantive research hypothesis via testing of the Null hypothesis
(Ho)

Choose the correct answer from the options given below

1.ADBCE
2ABCDE
3.ACBDE
4B A CDE
Options :

21052919833. 1
21052919834. 2
21052919835. 3
21052919836. 4

Question Number : 9 Question Id : 2105295022 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.A DBCE
2.A B CDE
3ACBDE
4B A CDE
Options :

21052919833. 1
21052919834. 2
21052919835.3
21052919836. 4

Question Number : 10 Question Id : 2105295023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following sampling techniques in research imply randomization and equal
probability of drawing the units?

A. Quota sampling

B. Snowball sampling

C. Stratified sampling

D. Dimensional sampling

E. Cluster sampling

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand E only
4. D and E only
Options :
21052919837. 1
21052919838. 2
21052919839. 3
21052919840. 4

Question Number : 10 Question Id : 2105295023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052919837. 1
21052919838. 2
21052919839. 3
21052919840, 4

Sub-Section Number : 2
Sub-Section Id : 210529152
Question Shuffling Allowed : Yes

Question Id : 2105295024 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (11 to 15)

Question Label : Comprehension

Read the passage carefully and answer the questions that follow



In the narrowest sense, price is the amount of money charged for a product or a service. More
broadly, price is the sum of all the values that customers give up to gain the benefits of having
or using a product or service. Historically, price has been the major factor affecting buyer
choice. In recent decades, however, nonprice factors have gained increasing importance. Even
so, price remains one of the most important elements that determines a firm's market share
and profitability.

Price is the only element in the marketing mix that produces revenue; all other elements
present costs. Price is alsc one of the most flexible marketing mix elements. Unlike product
features and channel commitments, prices can be changed quickly. At the same time, pricing is
the number one problem facing many marketing executives, and many cempanies do not
handle pricing well. Some managers view pricing as a big headache, preferring instead to
focus on other marketing mix elements. However, smart managers treat pricing as a key
strategic tool for creating and capturing costumer value. Prices have a direct impact on a firm's
bottom line. A small percentage improvement in price can generate a large percentage
increase in profitability. More important, as part of a company's overall value proposition, price
plays a key role in creating customer value and building customer relationships. "Instead of
running away from pricing,” says an expert, "savvy marketers are embracing it".

The price the company charges will fall somewhere between one that is too low to produce a
profit and one that is too high to produce any demand. It summarizes the major
considerations in setting price. Customer perceptions of the product’s value set the ceiling for
prices. If customers perceive that the product’s price is greater that its value, they will not buy
the product. Likewise, product costs set the floor for prices. If the company prices the product
below its costs, the company's profits will suffer. In setting its price between those two
extremes, the company must consider several external and internal factors, including
competitors’ strategies and prices, the overall marketing strategy and mix, and nature of the
market and demand.

Sub questions



Question Number : 11 Question Id : 2105295025 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Historically price was considered important because

1. Sellers were always benefitted

2. Money was charged for product or service
3. It provided options for buyers

4. It promoted non-price factors

Options :

21052919841. 1
21052919842. 2
21052919843. 3
21052919844. 4

Question Number : 12 Question Id : 2105295026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Why is price different from other elements in the marketing mix?

1. It offsets cost

2. It generates revenue

3. It is rigid in character

4. |t ensures channel commitment
Options :
21052919845. 1

21052919846. 2
21052919847. 3
21052919848. 4

Question Number : 13 Question Id : 2105295027 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

What is the perception of smart managers regarding pricing?

1. It is a strategic tool for consumer value

2. It invites issues

3. It is better to focus on other elements in the marketing mix
4. It is of indirect value to the firm

Options :

21052919849. 1

21052919850. 2

21052919851.3

21052919852. 4

Question Number : 14 Question Id : 2105295028 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is the major determinant of pricing for product or service?

1. High demand

2. Low demand

3. Customer's value perception

4. Company's quest for high profitability
Options :

21052919853. 1

21052919854. 2

21052919855. 3

21052919856. 4

Question Number : 15 Question Id : 2105295029 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the other factors influencing or setting the price for products or services?
A. Competitors' strategies

B. Over-all marketing mix

C. Type of market

D. Pricing from one extreme to the other

E. Predators pricing strategies

Choose the correct answer from the options given below:

1. A, D and E only
2. A, B and C only
3.C, D and E only
4. B, C and D only
Options :
21052919857. 1
21052919858. 2
21052919859. 3
21052919860. 4

Question Id : 2105295024 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (11 to 15)

Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 2105295025 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ufaeiitie ®U 9§ S19d o Hewayul Iog |rar 41 #ifd -

1. fagbarsil &1 Gea Ay siaT Ul

2. 3dTG 91 9a1 & e e=fs wuiig &1 i 4
3. 3O Hars @ [aded Suas gid

4, 39U IR-DITd DR &I Yau- gial ol
Options :

21052919841. 1

21052919842, 2

21052919843, 3

21052919844. 4

Question Number : 12 Question Id : 2105295026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052919845 1

21052919846. 2

21052919847. 3

21052919848. 4

Question Number : 13 Question Id : 2105295027 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

21052919849. 1

21052919850. 2

21052919851. 3

21052919852. 4

Question Number : 14 Question Id : 2105295028 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052919853. 1

21052919854, 2

21052919855. 3

21052919856. 4

Question Number : 15 Question Id : 2105295029 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TGl Sl Harell & DHG &I UHIdd a1 HYiRT B a1 3 RS HH-4 § ?
A. Ufcreaidal @ Yot

B. gAY fauur fasor

C. 9I9IR &1 §bR

D. Uth IRid e ¥ Gl Wil dd diad FHeRu

E. ISR Hoall I DA 0

Hel faded g -

1. ®Bdd A D IR E
2. Pad A, B3R C
3. PaqaC, D 3MRE
4. ®da B, C AR D
Options :
21052919857. 1
21052919858. 2
21052919859, 3
21052919860. 4

Sub-Section Number : 3
Sub-Section Id : 210529153
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 2105295030 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When communication enhances the interaction of learners, it is

1. Physiological
2. Psychological
3. Artistic

4. Transient
Options :
21052919861. 1
21052919862. 2
21052919863. 3
21052919864. 4

Question Number : 16 Question Id : 2105295030 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
& GEN, AfERTHEGAI B eyl ® §gldl & 99 98 eldl & ;

1. Hifd®
PREICHIEGH
3. FATHD
4, gfftrs

Options :

21052919861. 1
21052919862. 2
21052919863. 3
21052919864. 4

Question Number : 17 Question Id : 2105295031 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Classroom communication is

A. Goal-oriented

B. Style-centric

C. Collaborative

D. Vertical

E. Non-rhetorical

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and C only
4. D and E only
Options :
21052919865. 1
21052919866. 2
21052919867. 3
21052919868. 4

Question Number : 17 Question Id : 2105295031 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



DT - DE GREU BT & :

A. TEI-39E
B. Aeil-thisd

C. GEUHD

D. HeiR

E. 7R - 3fcidd

Hel faded g -

1. Had A 3R B
2. @aAB AR D
3. @A A AR C
4. HaAD AR E
Options :
21052919865. 1
21052919866. 2
21052919867. 3
21052919868. 4

Question Number : 18 Question Id : 2105295032 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Allowing an issue to fester will contribute to effective communication

Reason R: A good communicator will address an issue in the classroom before it becomes
precarious

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052919869. 1

21052919870. 2

21052919871. 3

21052919872. 4

Question Number : 18 Question Id : 2105295032 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T el oy Ru T § : te ofiayH () AR GEU & (R) B

HiPHYH (A) : fH TR &I 964 ¢4 © UHTE! U H eradl Hed! 8|

d (R) : Ueh HRcl YUYl el H food! THe] & S 5l ofiH 3 Ugd S9! GH14UH ST |
SUgdd Syl & 3Tt H Fgifdd fdepeal § 4 w81 Sw g -

(A) 3R (R) THI T&1 & 3R (R), (A) P! ol ARG &l o
(A) 3R (R) &I GE1 € 3IR (R), (A) P! UgI SARAT 81 8|
(A) H81 8, b= (R) o7 B

(A) 7TTd & b (R) Hel B

Options :

21052919869. 1

21052919870. 2

21052919871. 3

21052919872. 4

1.
2.
3.
4.

Question Number : 19 Question Id : 2105295033 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List |

List 1l

Communication barriers

Description

A, Semantic

. Lack of physical clarity in channel

B. Psychological

Il. Faulty message

C. Personal

Ill. Poor retention

D. Physical

V. Lack of time

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-IL,B-ULC-IV,D-I
JA-ILB-IV,C-1,D-1I
4 A-IV,B-LC-1I,D-1I
Options :

21052919873. 1
21052919874. 2
21052919875. 3
21052919876. 4

Question Number : 19 Question Id : 2105295033 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gait-1 § Gai-1l &7 FHaE &

] Ti-Il
TUOU & HARY  [[aR0
A. Teadd I GRUT () H Hifds syl &1 4G
B. FAIG9I® I1. Ffequl gem
C. Al 1. FHF BIfe BT AHGURT
D. Hifd® V. GHG & HYG
il fau U fasheal § O gel 3« &1 90 & -

TA-LB-ILC-IILD-V
ZA-IL,B-ULC-IV,D-I
JA-ILB-IV,C-1,D-1I
4 A-IV,B-LC-1I,D-1I
Options :

21052919873. 1
21052919874. 2
21052919875. 3
21052919876. 4

Question Number : 20 Question Id : 2105295034 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement |: Signs and symbols have internal relations to produce meanings
Statement lI: This is possible because of a network of signs through such relations

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

21052919877. 1

21052919878. 2

21052919879. 3

21052919880. 4

Question Number : 20 Question Id : 2105295034 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

EIERAE USRI R

HUA-| ; Yot AR Tt &1 1 Iaad B H 31 Tdy gl 2
HYH-1 : T8 3 Udul & H1e9H Y Ydvell & A2dd & BRI HHd Bidl ¢
IRa BYH & H1eilie | Fgifhd fdeedl H 4§81 3w 9

1. @Y | 3R 1| ST T8 B

2. YA | AR || SH 9 g

3. BYA-1 9 g, food HY-11 To7d & |
4, HYF-| AT g, foog BYA-11 Gl B




Options :

21052919877. 1
21052919878. 2
21052919879. 3
21052919880. 4

Question Number : 21 Question Id : 2105295035 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A man covers a distance of 22 km in 4 hours by initially walking and then jogging at speed of 4
km/hour and 10 km/hour, respectively. The distance covered by him during walking is

1.10 km
2. 12 km
3.15 km
4. 18 km
Options :
21052919881. 1
21052919882. 2
21052919883. 3
21052919884. 4

Question Number : 21 Question Id : 2105295035 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U oiga 22 fohHl & gl Bl 4 °¢ H SRY H T AR dard 4 &I 4 HH: 4 foHl ga
HR 10 ey de1 & 710 T 70 Bl & | 39D gR1 dad ad B 115 g1l [dd-l 6 ?

1. 10 T,

2. 12 T,

3. 15 TobHl

4. 18 Tl
Options :
21052919881. 1
21052919882. 2
21052919883. 3
21052919884 4

Question Number : 22 Question Id : 2105295036 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A rational number has its denominator greater than its numerator by 6. If the numerator is

increased by 4 and the denominator is decreased by 8, the number becomes g . What is the

original rational number?

11

17

5

11

7

13

13

19

Options :
21052919885. 1
21052919886. 2
21052919887. 3

21052919888. 4

1.

2.

3.

4,



Question Number : 22 Question Id : 2105295036 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U URHY T3] D1 5 34D W H 6 3fd 51 3G SN H 4 DI Jhg DI ol g AR AT 8
udimd|d|%ﬂ?%@|gﬁaﬁﬂ%|%ﬂﬂﬁﬁﬁww%?

it

17
5
11
7
13
13
19

[l

Options :

21052919885. 1
21052919886. 2
21052919887. 3
21052919888. 4

Question Number : 23 Question Id : 2105295037 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following number series
0, 6, 24, 60, 120, X
What is the value of term X7

1. 180
2 210
3. 240
4,156



Options :

21052919889. 1
21052919890. 2
21052919891. 3
21052919892. 4

Question Number : 23 Question Id : 2105295037 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fgifhd &= 4aar | fdar Sife

0, 6, 24, 60, 120, X
X B A T & ?

1. 180
2. 210

3. 240

4. 156
Options :
21052919889. 1
21052919890. 2
21052919891. 3
21052919892. 4

Question Number : 24 Question Id : 2105295038 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Two water pipes can fill a tank in 10 minutes and 15 minutes, respectively, if each of them is
used separately. If both the pipes are used to fill the tank simultaneously, how long will it take
to fill the tank?

1. 6 minutes
2. 8 minutes
3. 7.5 minutes
4. 9 minutes
Options :
21052919893. 1
21052919894. 2
21052919895. 3
21052919896. 4

Question Number : 24 Question Id : 2105295038 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
&l ofc UIsY TG 3{T-3{TH 9ae ol df UH <] &l ®HR: 10 e 3R 15 fqe § R 9@d 5
Ofg 3iFf UIsyl &l o] &I Y34 & 770 Us -T7Y Eid o0 9e o <1 & W34 o foa7 99g o

1.6 e

2.8 e
3.7.5 e

4 9fie
Options :
21052919893. 1
21052919894, 2
21052919895. 3
21052919896. 4



Question Number : 25 Question Id : 2105295039 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the next term in the following letter series?
aceg, cegi, egik, gikm, ___

1. jlor

2. hjlo

3. ikmo

4. ikmg
Options :
21052919897. 1
21052919898. 2
21052919899. 3
21052919900. 4

Question Number : 25 Question Id : 2105295039 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fgifdd 2eg y@el & ST WUsg &1 BRI ?

aceg, cegi, egik, gikm, __

1. jlor
. hjlo
. ikmo

Y A

. ikmg
Options :
21052919897. 1
21052919898. 2
21052919899. 3
21052919900. 4



Question Number : 26 Question Id : 2105295040 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Substance is self-caused, self-conceived and self-existent

Reason R: Substance is not caused by other causal sources but is conceived by something else
and is also existent on that

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052919901. 1

21052919902. 2

21052919903. 3

21052919904. 4

Question Number : 26 Question Id : 2105295040 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id Gl @y fGu U § : user SifiduH (A) IR G ad (R) § ;
HIHGYA (A) : GO0 W-HIa, W-Yd 311 T i aran sidl o

a® (R) : God 30 BRE Aldl G DI el oidl & Sicd [Pl 3= gRT UTRd il & 3R 394 it
JFRaa H g gl

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) U8l & U (R) 7Teid &

4. (A) 7T & TR (R) el &

Options :

21052919901. 1

21052919902. 2

21052919903. 3

21052919904. 4

Question Number : 27 Question Id : 2105295041 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: All perceptions seem entirely loose and separate. They are conjecined but not
necessarily connected

Reason R: Since the perception of hardness is not necessarily connected with its colour, it can
be said that perceptions are loosely connected

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052919905. 1

21052919906. 2

21052919907. 3

21052919908. 4

Question Number : 27 Question Id : 2105295041 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id Gl @y fGu U § : user SifiduH (A) IR G ad (R) § ;

HHHYA (A) H TEEU guf U 9 9ad 3R U Udld gid &) d §9dd gld & Ui Si-aidd:
Hafed T2l 5id ¢

dd (R) : dich HARAT D1 UGB 39 A1 U HHqdd: Wefdd -Tg] 8 S9icid 98 ®al of 9odl o
fob Ugalioey gad U 4 Helia g

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) T8l & U (R) Tad o

4. (A) 7T & TR (R) el &

Options :

21052919905. 1

21052919906. 2

21052919907. 3

21052919908. 4

Question Number : 28 Question Id : 2105295042 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: If there is a contestation between Sruti and Smriti, Sruti prevails over Smriti

Reason R: Sruti represents the philosophical aspect of the Vedas and Upanishads, while
Smiriti is an application of the philosophical ideas.

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052919909. 1

21052919910. 2

21052919911. 3

21052919912. 4

Question Number : 28 Question Id : 2105295042 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id Gl @y fGu U § : user SifiduH (A) IR G ad (R) § ;
By (a) - OfG ofa ofR Wi & o9 ufowai 8 8, a1 i, i 9 oifie murdt aidh &1

@ (R) : ‘Y Jaf 3R IuFYal & qRiHe Tsqs & G2l &, weie Wi ariHe GEri @
U IR B

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) T8l & U (R) Tad o

4. (A) 7T & TR (R) el &

Options :

21052919909. 1

21052919910. 2

21052919911. 3

21052919912. 4

Question Number : 29 Question Id : 2105295043 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Quantity and quality of a categorical proposition decide

1. Validity

2. Invalidity

3. Mood

4. Figure
Options :
21052919913. 1
21052919914. 2
21052919915. 3
21052919916. 4



Question Number : 29 Question Id : 2105295043 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tl geap b areg &t A SR g RgfaRed &1 Ao sl g

1. QYT

2. AT

3. HIR

4. Ppid
Options :
21052919913. 1
21052919914. 2
21052919915. 3
21052919916. 4

Question Number : 30 Question Id : 2105295044 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following decides the figure of a categorical proposition?

1. Major term
2. Minor term
3. Middle term
4. Copula
Options :
21052919917. 1
21052919918. 2
21052919919. 3
21052919920. 4

Question Number : 30 Question Id : 2105295044 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Ffeiad ¥ 4 &HF - 91 [od Yy 9o a1 &1 HPd S H0g Bl 6 ?

1. UHE Ug

2 g UE

3 HEH UG

4 W(Co;}ulaj
Options :
21052919917. 1
21052919918. 2
21052919919. 3
21052919920. 4

Sub-Section Number : 4
Sub-Section Id : 210529154
Question Shuffling Allowed : Yes

Question Id : 2105295045 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: No
Question Numbers : (31 to 35)
Question Label : Comprehension

: Yes Group Comprehension Questions



Based on the data in the table, answer the questions that follow

Consider the following table which contains year-wise data of installed Renewable Energy
capacity for four countries (X, Y, Z, T) over a period of 5 years from 2015 to 2019.

Year\Country X Y Z 1L

2015 10 15 08 12
2016 13 18 10 13
2017 15 20 12 15
2018 20 20 15 18
2019 22 24 20 20

Sub questions

Question Number : 31 Question Id : 2105295046 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Between 2016 to 2017, which country registered maximum growth (%) in installed capacity of
Renewable Energy?

1. X

2L

3.¥

4T
Options :
21052919921. 1
21052919922. 2
21052919923. 3
21052919924. 4



Question Number : 32 Question Id : 2105295047 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which country registered maximum growth (%) by 2019 with reference to year 20157

2T

3. X

4.

Options :
21052919925. 1
21052919926. 2
21052919927. 3
21052919928. 4

Question Number : 33 Question Id : 2105295048 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For the country 'Y', what is the average annual growth (%) of Renewable Energy capacity?

1. ~10.85 %
2. ~12.77 %
3.~13.25%
4 ~11.65%
Options :

21052919929.
21052919930.
21052919931.
21052919932.

AW O~

Question Number : 34 Question Id : 2105295049 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
In any given year, compared to the previous year which country(s) registered maximum growth
(%6)?

1T

2. Zandy

3 ¥

4 Xand Z
Options :
21052919933. 1
21052919934. 2
21052919935. 3
21052919936. 4

Question Number : 35 Question Id : 2105295050 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Taking all four countries together, what is the over-all increase (%) in installed capacity of
Reneable Energy in the year 2019, with reference to 20157

1.52.32 %
91,11 %
. 117.32 %

. 121.81 %
Options :
21052919937. 1
21052919938. 2
21052919939. 3

21052919940. 4

[ T I 9

Question Id : 2105295045 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (31 to 35)



Question Label : Comprehension

frgifea mifereT © faaw =% 59 2015 ¥ 2019 79 5 g0 FT sEfU FIRF IR S| ¢, v,
z. 7) ¥ fore wifie Tdftevoiin oot s § 99-9R ofee fRu mw §1 =9 oiest & amuR
W'ﬂ%ﬁ'%ﬁ?ﬁ'

wTfhd FdiHuiiy Sl &9 (GW) :
ay / ox X Y z T
2015 10 15 08 12
2016 13 18 10 13
2017 15 20 12 15
2018 20 20 15 18
2019 22 24 20 20

Sub questions

Question Number : 31 Question Id : 2105295046 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

aul 2016 - 2017 P &1 (9 G A TaHNG Soll B WG & T ifimad g (9) & @ 87

1. X

2L

3.¥

4T
Options :
21052919921. 1
21052919922. 2
21052919923. 3
21052919924. 4



Question Number : 32 Question Id : 2105295047 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
®H-4 2% 94 2015 & &4 T 2019 9% AWHIH gfE (%) col Dl g ?

1.2

2T

3. X

4.

Options :
21052919925. 1
21052919926. 2
21052919927. 3
21052919928. 4

Question Number : 33 Question Id : 2105295048 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
S 'Y & U Adieeuiig el &Fdl ©f Hgd 9t ais (%) fhaai @i g ?

1. ~10.85%
2. ~12.77%
3. ~13.25%
4 ~11.65%
Options :

21052919929. 1
21052919930. 2
21052919931. 3
21052919932. 4

Question Number : 34 Question Id : 2105295049 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Udddi a4 @1 Jom1 H fodl 16T T 99 H 6y <=1/ foo <1 A 3ifidan 3ig (%) Gel @i 8 ?

£
2.Z3ARY

3.Y

4 %X3N7
Options :
21052919933. 1
21052919934 2
21052919935. 3
21052919936. 4

Question Number : 35 Question Id : 2105295050 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
il aRi <=1l & s, a4 2015 & Y ¥ 9 2019 # Fdiemolig Sl &1 U & 3 999
g (%) o 8 7

3.117.32%
4,.121.81%
Options :
21052919937. 1
21052919938. 2
21052919939. 3
21052919940. 4
Sub-Section Number : 5
Sub-Section Id : 210529155
Question Shuffling Allowed : Yes



Question Number : 36 Question Id : 2105295051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation BIOS?

1. Big Information Online System
2. Binary Input Output Software
3. Basic Input Qutput System

4. Binary Inner Open Software
Options :

21052919941. 1

21052919942.2

21052919943. 3

21052919944. 4

Question Number : 36 Question Id : 2105295051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
BlOS TNEUT 2eg &1 Q1 &9 1 6 ?

1. 7 5=mHEE JiaE- el
2. G231 29T #f13eYe YIHeddy
3. 9 3Ye 33eye fawen

4, 1R 2R HIUH YRGR
Options :

21052919941. 1

21052919942, 2

21052919943. 3

21052919944, 4

Question Number : 37 Question Id : 2105295052 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Computer hardware consists of

1. Computer table
2. Monitor and CPU
3. Software

4. Google

Options :
21052919945. 1
21052919946. 2
21052919947. 3
21052919948. 4

Question Number : 37 Question Id : 2105295052 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
H BISadR § WM el & -

1. DR <qa

2. Hi-ex T gidiyg
3. GIged®

4.70d

Options :
21052919945. 1
21052919946. 2
21052919947. 3
21052919948. 4

Question Number : 38 Question Id : 2105295053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is a data visualization method?

1. Line

2. Circle and Triangle

3. Pie chart and Bar chart
4. Pentagon

Options :

21052919949. 1
21052919950. 2
21052919951. 3
21052919952. 4

Question Number : 38 Question Id : 2105295053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ye waRiiew gq Faifed d d oi-@i fafu g 2

1. 3T (@12A)

2. O a1 Ay

3. U3 9@1¢ quT R 91e
4, 4=

Options :
21052919949. 1
21052919950. 2
21052919951. 3
21052919952. 4

Question Number : 39 Question Id : 2105295054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Nowadays many online courses are available and their popularity is increasing

Reason R: Selecting the right course from many such, is a big challenge

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052919953. 1

21052919954. 2

21052919955. 3

21052919956. 4

Question Number : 39 Question Id : 2105295054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy G TN B : T @l i@y (A) SR GHR @I ad (R) Pel T & ;

HYEHYH (A) : GHRIF 9gd Y SfHa1s- Usgsd 3Ude & a4l 34d] didugdl 96 Lol o
dd (R) : 39 UBR 4 9gd 4 GidUwHl H ¥ el UledshH &1 98- U dof gAld ol

U Byl b e H Fgifed famedl | 9 waifts 3uged 3w g4 -

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) T8l & U (R) Tad o

4. (A) 7T & TR (R) el &

Options :

21052919953. 1

21052919954. 2

21052919955. 3

21052919956. 4

Question Number : 40 Question Id : 2105295055 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A-F system is used in which of the following number systems?

1. Binary

2. Octal

3. Hexa - Decimal
4, Decimal
Options :
21052919957. 1
21052919958. 2
21052919959. 3
21052919960. 4



Question Number : 40 Question Id : 2105295055 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A -F yonel fRgifesd & @ iy e uonel & wgad g 8 7
1 ﬁlﬁfﬁéﬁ

2. ffaed

4 SfaEd
Options :
21052919957. 1
21052919958. 2
21052919959. 3

21052919960. 4

Question Number : 41 Question Id : 2105295056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Under Goal 4 of Millenium Development Goals, the reduction sought to be achieved in under-
five child mortality rate between 1990-2015 was to the extent of

1. Half

2. Two-third

3. Three-fourth
4, One-third
Options :
21052919961. 1
21052919962. 2
21052919963. 3
21052919964. 4

Question Number : 41 Question Id : 2105295056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

edlsc! [dHry Tedl & ded a9l 4 H, 99 1990 - 2015 & §ig Uid a4 U HH 3 B dld Jg &3
¥ UTT 1 Sl arell Qe i i 41 2

1. 1L

2. GI-faerg

3. dH-9E
4,7 - figlR
Options :
21052919961. 1
21052919962. 2
21052919963. 3
21052919964. 4

Question Number : 42 Question Id : 2105295057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 1l

Emitted Pollutants Environmental Impact

A. Carbon dioxide |. Formation of acid rain

B. Carbon monoxide II. Toxic and are carcinogenic

C. Nitrogen oxides I1l. Toxic and can cause respiratory diseases

D. Benzene and hydrocarbons V. Contribution to global warming as a
greenhouse gas

Choose the correct answer from the options given below:

TLA-IV,B-LC-1,D-1I
2ZA-IV,B-,C-1,D-Il
JA-IV,B-ILC-MLD-I
4 A-1L,B-IILC-ILD-WV
Options :

21052919965. 1
21052919966. 2
21052919967. 3
21052919968. 4

Question Number : 42 Question Id : 2105295057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



G- Dl l-11 & gy GHferd &Y

gal-| qal-1l

ERIEGR LD ThiaR0ig HHE

A TTET SEHGAES |1 3% g9l & HH

B. BIEH AMIEGES  |IL.fa8T 9 dTeRS
C. AISeIoH ATeed (il TIa 9UT 499 e I & SR

D. Soi 3R IV. TF YH-81599 I8 & ©U H aid® arg- &I
HEEIEIERS AR
i< fgu 7Tu fo@eal 5 © Ul ST &1 90 @9 -

TA-IV,B-LC-|,D-1
ZA-IV,B-LC-1,D-1I
SA-IVB-ILC-1LD-|
AA-,B-ILC-ILD-IV
Options :

21052919965. 1
21052919966. 2
21052919967. 3
21052919968. 4

Question Number : 43 Question Id : 2105295058 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of countries in decreasing order of their contribution to global
carbon dioxide emissions

A USA
B. China
C. Russia
D. India
E. Japan

Choose the correct answer from the options given below

1.A B D CE
2B, ADCE
3.B.ADEC
4. A B, D EC
Options :

21052919969. 1
21052919970. 2
21052919971. 3
21052919972. 4

Question Number : 43 Question Id : 2105295058 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o2 & 3T HE-SE3HRIEs S § 3% diGH & 3faie] ©H § gl ®4 @ UgdH @

A. JUEU
8. 9

C. =9
D. HRd
E. S
4 feu 7Y faeedl & © el IR g -

1.A B D CE
2B ADCE
3.B.ADEC
4 A B DEC
Options :

21052919969. 1
21052919970. 2
21052919971. 3
21052919972. 4

Question Number : 44 Question Id : 2105295059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A windmill with proper design considerations can be made to operate at
efficiencies in the range 60% to 65%

Reason R: The efficiency of the windmill depends on its design parameters

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052919973. 1

21052919974. 2

21052919975. 3

21052919976. 4

Question Number : 44 Question Id : 2105295059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id Gl &y fGu U § : User SifiduH (A) ARG dd (R) §

HYEYH (A) : UGd HHDHed U ied Dig Ua- 9] 60% Y 65% DI DRIGIC U3
v & o T & o1 9@dl 3

d (R) : UaH gad| Bl i pIadl 39 Hfdded Urdal U R &l g
Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) U8l & U= (R) 7O B

4. (A) 7T & TR (R) el &

Options :

21052919973. 1

21052919974. 2

21052919975. 3

21052919976. 4

Question Number : 45 Question Id : 2105295060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From disaster mitigation measures given below, identify the measures which can be
characterized as non-structural

A. Flood dykes

B. Land-use zoning

C. Rasing of homes in flood-prone areas

D. Insurance programmes

E. Reinforce tornado safe rooms

Choose the correct answer from the options given below:

1. Band D only

2. A, B and D only
3. B, D and E only

4 A B, DandE only
Options :
21052919977. 1
21052919978. 2
21052919979. 3
21052919980. 4

Question Number : 45 Question Id : 2105295060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id feu 71u e =g-HiHR JuEl H 9, 39 SUM (34 SUM) S S @ o/ srikfad @
&9 § Fifpd fbgr o godr s -

A. 91 deay

B. HIH - T &7 MR

C. 91g Eiftd &3 § R & W Sgl 36M
D. SHI BEHH

E. QO GRIGT D& DI Hoigd Hel
1 feu 7 fasedl # 9§ 98l S 9 -

1. ®3d B AR D

2. Pad A, B3R D
3. $aaB, D3R E
4, H3dA, B, D3R E
Options :
21052919977 1
21052919978. 2
21052919979. 3
21052919980. 4

Question Number : 46 Question Id : 2105295061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following areas of liberal education at the higher level in the feudal society of
Europe were classified under quadrivium?

A. Grammar

B. Logic

C. Arithmetic

D. Astronomy

E. Music

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3.C, D and E only
4. A DandE only
Options :
21052919981. 1
21052919982. 2
21052919983. 3
21052919984. 4

Question Number : 46 Question Id : 2105295061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



R & FHTAIS! GHS H TR W U JaRde] gl & Fafaiad 7 4 fod &1 o 9geg
(quadrivium) & {ld Fifepd fdaar T 7

A. TR

5. T

C. DI

D. I

E. E¥iid

1 fu 7w faeal # 9 Wel ST 94 -

1. ®3d A, B3R C
2. Paa B, C 3R D
3. PaqaC, D 3MRE
4. H3dA DIHRE
Options :
21052919981. 1
21052919982. 2
21052919983. 3
21052919984 4

Question Number : 47 Question Id : 2105295062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



National Programme for Technology Enhanced Learning (NPTEL) was initiated by the MHRD in
2003 to enhance the quality in

1. Medical education

2. Agriculture education
3. Engineering education
4. Legal education
Options :

21052919985. 1
21052919986. 2
21052919987. 3
21052919988. 4

Question Number : 47 Question Id : 2105295062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
9 2003 H HHE YHIEH GBI HAGT (MHRD) BRI AP WEff1e! Yafdla Hferms sriss
(NPTEL) &I FHIRad &1 Turadl § YR $3 & o I fo g1 741 o

1. i f2ram

2. Py 2&m

3. goil-a fame
4, fafere f2re
Options :
21052919985. 1
21052919986. 2
21052919987. 3
21052919988. 4

Question Number : 48 Question Id : 2105295063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Sustainable Development Goals (SDGs) set in 2015 by the United Nations are intended to
be achieved by

1. 2025

2. 2030

3. 2035

4. 2040
Options :
21052919989. 1
21052919990. 2
21052919991. 3
21052919992. 4

Question Number : 48 Question Id : 2105295063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
g wﬁmmﬁzm; § [4IRd YUy 9oy Tedl (T.3150) $1 4 db W 5T &H

1. 2025
2. 2030
3. 2035
4, 2040

Options :

21052919989. 1
21052919990. 2
21052919991. 3
21052919992. 4

Question Number : 49 Question Id : 2105295064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

Modes of supply of education services

Examples of these services in education
under GATS

l. Professors, teachers and researchers working
A. Mode 1 - Cross border supply sheciad on @ tempory b

Il. Language training companies, Local
B. Mode 2 - Consumption abroad . g, J g P
university and Satellite campuses

. Ill. Distance education, Virtual education,
C. Meode 3 - Commercial presence o
Corporate training through ICT

IV. A student travels to another country to enrol
D. Mode 4 - Movement of natural persons

in a course of study/degree programme

Choose the correct answer from the options given below:

TA-IWV,B-LC-1L,D-1I
ZA-ILB-IW,C-1LD-|
JA-ILB-ULC-LD-V
4 A-1L,B-ILC-IV,D-1l
Options :

21052919993. 1
21052919994. 2
21052919995. 3
21052919996. 4

Question Number : 49 Question Id : 2105295064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tdl-1 T TEi-11 & e @8 G- J g & fdia e darst @1 o ol usfau i S B
- Gall-11 H e & 59 Yarsll & 3eeW0 ©

gal-| gl-1i

A UGfa-1: TE-ur |1, faesn o oreurdt SUR R S &3 38 UHhER,
TR frare SR Thed

B.Ugld-2: faa=mrd 1. v ufRiamr srufal, =i fayfaeney ok
Gud Jeage oad

C. UGfa-3 : aifvifsas 1. 3 91 &1 & g1y O greufRian, syt fRaf,
IR @URE TiIE

D. UGid-4 : Widpfa®  |Iv. Bis [qondf 3reag- & it ursgss / Tl
g3l @1 AEFET [ @EHE H AHiE & o8 guL o% 9Idl &

S R e R R e

TLA-IW,B-1,C-1,D-1
ZA-ILB-IV,C-Il,D-1
JA-ILB-LC-1,D-V
4 A-1,B-I,LC-1V,D-1I
Options :

21052919993. 1
21052919994. 2
21052919995. 3
21052919996. 4

Question Number : 50 Question Id : 2105295065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ashtadhyayi was written by

1. Chanakya

2. Jivaka

3. Katyayana
4. Panini
Options :
21052919997. 1
21052919998. 2
21052919999. 3
21052920000. 4

Question Number : 50 Question Id : 2105295065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HPTEAM] P TGP T :

Options :

21052919997. 1
21052919998. 2
21052919999. 3
21052920000. 4

PART II Mass Communication and Journalism
Section Id : 21052958
Section Number : 2
Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529156
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105295066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The relationship between text and social structure is

1. Mediated

2. Non-mediated
3. Confounded
4, Unilateral
Options :
21052920001. 1
21052920002. 2
21052920003. 3
21052920004. 4

Question Number : 51 Question Id : 2105295066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U8 AR e T39T & 9490 T S8 gl & ?

1. AIEOH G
2. SHTEHIDd
3. G¥p

4. THUETY
Options :
21052920001. 1
21052920002. 2
21052920003. 3
21052920004. 4

Question Number : 52 Question Id : 2105295067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The social categories perspective of communication is based on a collection of

1. Ethical views

2. Religious principles

3. Political differences

4. Stereotypes held by social scientists
Options :

21052920005. 1

21052920006. 2

21052920007. 3

21052920008. 4

Question Number : 52 Question Id : 2105295067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HaR &1 gETois 9ot uRiiey fad Tq=g W sneRd glals ?

1. ATARGs SFH

2. 47 faagla

3. AP Hd4g

4, THESIGIT ® T YR
Options :

21052920005. 1
21052920006. 2
21052920007. 3
21052920008. 4

Question Number : 53 Question Id : 2105295068 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In communication, 'The project of the self' is a concept developed by

1. James W. Carey

2. John B. Thompson
3. Will Right

4. Arthur Asa Berger
Options :
21052920009. 1
21052920010. 2
21052920011. 3
21052920012. 4

Question Number : 53 Question Id : 2105295068 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TaR ¥ T Ullae 3P § Sch'®] SqyRon faa fasfaa &t 2

1. O Sy il
2. S &, Yig
3. faa wzge

4. 3R TR
Options :
21052920009. 1
21052920010. 2
21052920011. 3
21052920012. 4

Question Number : 54 Question Id : 2105295069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Stuart Hall described the television viewers as

1. Classless audience

2. Elite consumers

3. Cultural dopes

4, Homophilous citizens
Options :

21052920013. 1
21052920014. 2
21052920015. 3
21052920016. 4

Question Number : 54 Question Id : 2105295069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TWIHE Bidt A callide GRid| @l fdow Y H afvld fodr g 2

1. FIdH SHFIE®

2. AT - SYUiE

3. Giplde &9 9 [ftsg
4, HEHR T AN S
Options :

21052920013. 1
21052920014. 2
21052920015. 3
21052920016. 4

Question Number : 55 Question Id : 2105295070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The diffusion model assumes that a proper combination of tweo things can move individuals
from a process of awareness of new technolegy to adoption of that technelogy. Which are the
two things?

1. Mass media and telecommunication

2. Non-mediated and inter-personal communication
3. Pro-innovation mass media and telecommunication
4. Information technology and mass communication
Options :

21052920017. 1

21052920018. 2

21052920019. 3

21052920020. 4

Question Number : 55 Question Id : 2105295070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



foawor gisa & 91 ol & & &f diei @1 3fud T 3 Uieifie] & 9 & aAfgadl of areddl
@1 Ufedl @ S SeIdHe 39 U] @i SFHR B4 & e Ugd dLdl el DGl Aol D Il 6 ?

1. SHER 3R GREAR

2. 74 H1gHd AR 3F: 3gfdad §aR
3. AaY R HifSqr 3R grdaR

4, Yo U1 3R o EaR

Options :

21052920017. 1

21052920018. 2

21052920019. 3

21052920020. 4

Question Number : 56 Question Id : 2105295071 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In Daniel Lerner's model of social development, what two functions does mass media
perform that are conducive to modernization?

1. Mass media spreads literacy and socialisation

2. Mass media aids the formation of markets and cause societal change
3. Mass media advocates and supports modernisation

4. Mass media disrupts and distorts traditional ideas in society

Options :

21052920021. 1
21052920022. 2
21052920023. 3
21052920024. 4

Question Number : 56 Question Id : 2105295071 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
2Fge d-R gR1 ufduiicd e fder & disd d S-daR Hifeui & W e 4 &l dd ¢ Sl
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2. SEOR Hifsa eeRI & A0 F 980 sidl & AR 991e § uRgdd a8
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Options :

21052920021. 1

21052920022. 2

21052920023. 3

21052920024 4

Question Number : 57 Question Id : 2105295072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What kind of media is defined by Wang and Dissanayake as a communication system
embedded in the culture which existed before the arrival of mass media and that still exists as
a vital mode of communication?

1. Conventional media
2. Oral media

3. Folk media

4. Community media
Options :

21052920025. 1
21052920026. 2
21052920027. 3
21052920028. 4

Question Number : 57 Question Id : 2105295072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :
21052920025. 1
21052920026. 2
21052920027. 3
21052920028. 4

Question Number : 58 Question Id : 2105295073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the difference between communicative action and strategic action?

1. Communicative action is interpersonal, strategic action is group communication.

2. Communicative action deals with people, strategic action deals with societies.

3. Communicative action happens before elections, strategic action happens during elections.

4. Communicative action tries to achieve mutual understanding, strategic action colonizes
other people’s lifeworld and is manipulative.

Options :

21052920029. 1

21052920030. 2

21052920031. 3

21052920032. 4

Question Number : 58 Question Id : 2105295073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

21052920029. 1

21052920030 2

21052920031. 3

21052920032. 4

Question Number : 59 Question Id : 2105295074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Events that occur suddenly and fit well with the news organizations' schedule are more likely
to be reported. Which news value does this explain?

1. Timelines

2. Familiarity
3. Disruption
4. Consonance
Options :
21052920033. 1
21052920034. 2
21052920035. 3
21052920036. 4

Question Number : 59 Question Id : 2105295074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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3. fagran
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Options :
21052920033. 1
21052920034. 2
21052920035. 3
21052920036. 4

Question Number : 60 Question Id : 2105295075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which news element is sometimes described as "The basic news value"?

1. Softness of events
2. Grapevine

3. Negativity

4. Corporate publicity
Options :
21052920037. 1
21052920038. 2
21052920039. 3
21052920040. 4

Question Number : 60 Question Id : 2105295075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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2. HYP FHER
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Options :
21052920037. 1
21052920038. 2
21052920039. 3
21052920040. 4

Question Number : 61 Question Id : 2105295076 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The closer the event, the bigger the story. The proximity refers to which one of the following?

1. The reader

2. The media institution's headquarters
3. The local politician

4. The local policeman

Options :

21052920041. 1

21052920042. 2

21052920043. 3

21052920044. 4

Question Number : 61 Question Id : 2105295076 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920041. 1
21052920042. 2
21052920043. 3
21052920044. 4

Question Number : 62 Question Id : 2105295077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to an official who had information on the meeting yesterday, the CEO told the
department heads that there would be layoffs. This is an example of what kind of account?

1. Firsthand

2. Secondhand
3. Thirdhand
4, Fourthhand
Options :
21052920045. 1
21052920046. 2
21052920047. 3
21052920048. 4

Question Number : 62 Question Id : 2105295077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920045. 1
21052920046. 2
21052920047. 3
21052920048. 4

Question Number : 63 Question Id : 2105295078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following is beyond the functions of advertising from the advertiser's
perspective?

1. Creating a brand image

2. Persuading people

3. Selling the product

4. Provide product and brand information
Options :

21052920049. 1

21052920050. 2

21052920051. 3

21052920052. 4

Question Number : 63 Question Id : 2105295078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e & eveu d MEifadd d o - w G ST U™ el 6 ?

1. §is afd e

2. T @1 FAHT

3. 3dIg @I fasg

4, 3G 3R F18 B ADR] JUcs B
Options :

21052920049. 1

21052920050. 2

21052920051. 3

21052920052. 4

Question Number : 64 Question Id : 2105295079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In advertising strategy, which one of the following has a direct bearing on the creative strategy
and the media strategy?

1. The name of the product
2. The target audience

3. The lego

4. The advertising copy
Options :

21052920053. 1
21052920054. 2
21052920055. 3
21052920056. 4

Question Number : 64 Question Id : 2105295079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920053. 1
21052920054. 2
21052920055. 3
21052920056. 4

Question Number : 65 Question Id : 2105295080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

When is it said that an advertisement has ‘worked'?

1. When the product has been sold

2. When it leads to brand building

3. When it delivers specific results that meet the stated objectives
4. When the company makes profits

Options :

21052920057. 1

21052920058. 2

21052920059. 3

21052920060. 4

Question Number : 65 Question Id : 2105295080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920057. 1

21052920058. 2

21052920059. 3

21052920060. 4

Question Number : 66 Question Id : 2105295081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Traditicnally, what is the major objective of most marketing programmes?

1. To remove the competitive brand from the market

2. To sell a product, service or idea

3. To persuade people to invest in a product

4. To create awareness about the owners of the company
Options :

21052920061. 1

21052920062. 2

21052920063. 3

21052920064. 4

Question Number : 66 Question Id : 2105295081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920061. 1

21052920062 2

21052920063. 3

21052920064. 4

Question Number : 67 Question Id : 2105295082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The commercial content in mass media is often referred to as

1. Dominant code
2. Conflict content
3. Noise

4, Test information
Options :
21052920065. 1
21052920066. 2
21052920067. 3
21052920068. 4

Question Number : 67 Question Id : 2105295082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920065. 1
21052920066. 2
21052920067. 3
21052920068. 4

Question Number : 68 Question Id : 2105295083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The performance based advertising is specific to

1. Print

2. Online

3. Radio

4, Television
Options :
21052920069. 1
21052920070. 2
21052920071. 3
21052920072. 4

Question Number : 68 Question Id : 2105295083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920069. 1
21052920070. 2
21052920071. 3
21052920072. 4

Question Number : 69 Question Id : 2105295084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is the most appropriate function of Public Relations?

1. It is about organizing media conferences and giving out media releases at staggered
intervals.

2. It is about addressing media issues on a regular basis.

3. It is maintaining minimum relations on a continuous basis with stakeholders.

4. It is about handling a crisis situation in an organization after getting clearance from the
security agencies.

Options :

21052920073. 1

21052920074. 2

21052920075. 3

21052920076. 4

Question Number : 69 Question Id : 2105295084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920073. 1

21052920074 2

21052920075. 3

21052920076. 4

Question Number : 70 Question Id : 2105295085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Advertising sensitive issues like AIDS and environmental awareness fall under

1. Vision campaign

2. Corporate strategy

3. Industrial promotion

4. Corporate social responsibility
Options :

21052920077. 1

21052920078. 2

21052920079. 3

21052920080. 4

Question Number : 70 Question Id : 2105295085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920077. 1
21052920078. 2
21052920079. 3
21052920080. 4

Question Number : 71 Question Id : 2105295086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Indian civil law does NOT recognize

1. The right to privacy

2. Breach of confidence

3. Infringement of copyright
4. Contractual obligations
Options :

21052920081. 1

21052920082. 2

21052920083. 3

21052920084. 4

Question Number : 71 Question Id : 2105295086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920081. 1
21052920082 2
21052920083. 3
21052920084. 4

Question Number : 72 Question Id : 2105295087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The doctrine of privileged documents is related to the law of

1. Copyright
2. Evidence

3. Sedition

4, Defamation
Options :
21052920085. 1
21052920086. 2
21052920087. 3
21052920088. 4

Question Number : 72 Question Id : 2105295087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920085. 1
21052920086. 2
21052920087. 3
21052920088. 4

Question Number : 73 Question Id : 2105295088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Originally, the copyright concept came into being under a/an

1. Statutory law

2. Constitutional law
3. Common law

4, International law
Options :
21052920089. 1
21052920090. 2
21052920091. 3
21052920092. 4

Question Number : 73 Question Id : 2105295088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920089. 1
21052920090. 2
21052920091. 3
21052920092. 4

Question Number : 74 Question Id : 2105295089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The limitation of action against contempt of court is of

1. Four years
2. Three years
3. Two years
4, One year
Options :
21052920093. 1
21052920094. 2
21052920095. 3
21052920096. 4

Question Number : 74 Question Id : 2105295089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920093. 1
21052920094. 2
21052920095. 3
21052920096. 4

Question Number : 75 Question Id : 2105295090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the series of decisions involved in delivering the message to the target audience
called?

1. Media strategy
2. Media marketing
3. Media planning
4. Media objectives
Options :
21052920097. 1
21052920098. 2
21052920099. 3
21052920100. 4

Question Number : 75 Question Id : 2105295090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920097. 1
21052920098. 2
21052920099. 3
21052920100. 4

Question Number : 76 Question Id : 2105295091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

While selecting a product, what is a consumer mostly prone to?

1. Emotions

2. Rational thought
3. Habit

4. Public opinion
Options :
21052920101. 1
21052920102. 2
21052920103. 3
21052920104. 4

Question Number : 76 Question Id : 2105295091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920101. 1
21052920102. 2
21052920103. 3
21052920104. 4

Question Number : 77 Question Id : 2105295092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Creating a perceived difference in the minds of consumers between an organization's brand
vis-a-vis competition is called

1. Product strategy

2. Product placement

3. Product differentiation
4. Product identification
Options :

21052920105. 1
21052920106. 2
21052920107. 3
21052920108. 4

Question Number : 77 Question Id : 2105295092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920105. 1
21052920106. 2
21052920107. 3
21052920108. 4

Question Number : 78 Question Id : 2105295093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the process of using promotional tools in a unified way so that communication
synergy is achieved, called?

1. Synergetic marketing communication
2. Integrated marketing communication
3. Integrated segmentation

4. Segmented communication

Options :

21052920109. 1

21052920110. 2

21052920111. 3

21052920112. 4

Question Number : 78 Question Id : 2105295093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920109. 1
21052920110. 2
21052920111. 3
21052920112. 4

Question Number : 79 Question Id : 2105295094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

immersive media have emerged from

1. Print media
2. Online media
3. Audio media
4, Video media
Options :
21052920113. 1
21052920114. 2
21052920115. 3
21052920116. 4

Question Number : 79 Question Id : 2105295094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920113. 1
21052920114. 2
21052920115. 3
21052920116. 4

Question Number : 80 Question Id : 2105295095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Manuel Castells argues that social organization of global society is organized as

1. Groups

2. Communities
3. Networks

4, Societies
Options :
21052920117. 1
21052920118. 2
21052920119. 3
21052920120. 4

Question Number : 80 Question Id : 2105295095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920117. 1
21052920118. 2
21052920119. 3
21052920120. 4

Question Number : 81 Question Id : 2105295096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Web 2.0 applications allow users to become

1. Autonomous producers
2. Copycats

3. Vocal offenders

4. Responsible hackers
Options :

21052920121. 1
21052920122. 2
21052920123.3
21052920124. 4

Question Number : 81 Question Id : 2105295096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 300 d Jdlg®
2. TPl

3. HE H{URTE
4, foFER 8%
Options :
21052920121. 1
21052920122. 2
21052920123.3
21052920124. 4

Question Number : 82 Question Id : 2105295097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Optical storage technology uses light in the form of

1. LASER

2. Gamma Rays
3. X-Rays

4. RADAR
Options :
21052920125. 1
21052920126. 2
21052920127.3
21052920128. 4

Question Number : 82 Question Id : 2105295097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920125. 1
21052920126. 2
21052920127. 3
21052920128. 4

Question Number : 83 Question Id : 2105295098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which one of the following theories are the attributes of the whole not deducible from the
analysis of the parts of an advertisement in isolation?

1. Gibson Theory

2. Gestalt Theory

3. Locke's Theory

4. Stalagmite Theory
Options :
21052920129. 1
21052920130. 2
21052920131. 3
21052920132. 4

Question Number : 83 Question Id : 2105295098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fagTo= & ded H g Hsia & S8R Fidhcd & 0 gy 32 {98y ¥ s =gl gid ?
1. e fgia

2, SieTee Haid

3. T @ gl

4, TWIoHEe fEid
Options :
21052920129. 1
21052920130. 2
21052920131. 3
21052920132. 4

Question Number : 84 Question Id : 2105295099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following film directors was part of Dogme 95 filmmaking movement
started in19957

1. Lars von Trier

2. Martin Scorsese
3. Jafar Panahi

4, Shohei Imamura
Options :
21052920133. 1
21052920134. 2
21052920135.3
21052920136. 4

Question Number : 84 Question Id : 2105295099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1, A g e
2. {1fé whit
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4. 5% TN
Options :
21052920133. 1
21052920134. 2
21052920135. 3
21052920136. 4

Question Number : 85 Question Id : 2105295100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The critically acclaimed movie "Black ", which got many national awards was directed by

1. Madhur Bhandarkar
2. Ashutosh Gowarikar
3. Sanjay Leela Bhansali
4. Hrishikesh Mukherjee
Options :

21052920137. 1
21052920138. 2
21052920139. 3
21052920140. 4

Question Number : 85 Question Id : 2105295100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. AYY HSRAR

2. HTRAIY AT
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Options :
21052920137. 1
21052920138. 2
21052920139. 3
21052920140. 4

Question Number : 86 Question Id : 2105295101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which film of Shyam Benegal is broadly based on the life of well-known Marathi stage and
film actress of the 1940's Hansa Wadkar?

1. Zubeidaa

2. Sardari Begum
3. Susman

4, Bhumika
Options :
21052920141. 1
21052920142. 2
21052920143.3
21052920144. 4

Question Number : 86 Question Id : 2105295101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 9dgl

2. TRER &H
3. g¥H4

4, YfHoT
Options :
21052920141. 1
21052920142. 2
21052920143.3
21052920144. 4

Question Number : 87 Question Id : 2105295102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Measurement in mass media, particularly in terms of space and time, is applied at

1. The nominal level
2. The ordinal level
3. The interval level
4, The ratio level
Options :
21052920145. 1
21052920146. 2
21052920147. 3
21052920148. 4

Question Number : 87 Question Id : 2105295102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. AHHATEATHD L
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Options :
21052920145. 1
21052920146. 2
21052920147. 3
21052920148. 4

Question Number : 88 Question Id : 2105295103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A survey that attempts to explain why certain conditions exist is known as

1. Conditional survey
2. Situational survey
3. Analytical survey
4. Predictional survey
Options :
21052920149. 1
21052920150. 2
21052920151. 3
21052920152. 4

Question Number : 88 Question Id : 2105295103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920149. 1
21052920150. 2
21052920151. 3
21052920152. 4

Question Number : 89 Question Id : 2105295104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
When a case study researcher prepares a document containing the procedural details before
conducting a pilot study, the document is called

1. Study protocol
2. Data design

3. Research frame
4. Idea bock
Options :
21052920153. 1
21052920154. 2
21052920155. 3
21052920156. 4

Question Number : 89 Question Id : 2105295104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. GG Uieidpla
2. STl fewrsH
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4, AT 4P
Options :
21052920153. 1
21052920154. 2
21052920155. 3
21052920156. 4

Question Number : 90 Question Id : 2105295105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Calculating sampling error is mostly appropriate with

1. Non-probability samples
2. Probability samples

3. Limited population

4. Large population
Options :

21052920157. 1
21052920158. 2
21052920159. 3
21052920160. 4

Question Number : 90 Question Id : 2105295105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. YTl Uid=a
2. YT UlaagH
3. Hifad sHgw=an

4. ggd WES
Options :
21052920157. 1
21052920158. 2
21052920159. 3
21052920160. 4

Question Number : 91 Question Id : 2105295106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the sales angle, a good and effective advertisement should
A. Disregard correctness

B. Produce disaffection

C. Create prejudice against competitors

D. Attract attention

E. Arouse curiosity

F. Transmit a congenial message

Choose the correct answer from the options given below

1. A, B and C only
2. B, C and E only
3.C, D and E only
4. D, Eand F only
Options :
21052920161. 1
21052920162.2
21052920163. 3
21052920164. 4

Question Number : 91 Question Id : 2105295106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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E. 3cgdhdl ST &1 U1 giH1 91feT

F. 90l §-G=I G- @1 0 A 9lieT

Hel faded g -

1. ®B3d A B3R C
2. Pad B, C 3R E
3. PaqaC, D 3MRE
4, H3AD, EARF
Options :
21052920161. 1
21052920162. 2
21052920163. 3
21052920164 4

Question Number : 92 Question Id : 2105295107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A crime story consists of the following elements

A. A description of what happened

B. The offence police believe the suspect has committed
C. The name, age and address of the people in the locality
D. The extent of media coverage

E. The name and age of the suspect

Choose the correct answer from the options given below

1. A, Cand D only
2. A, B and E only
3. B, Cand D only
4. C, D and E only
Options :
21052920165. 1
21052920166. 2
21052920167. 3
21052920168. 4

Question Number : 92 Question Id : 2105295107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TP IRy G§ei TR A FafRad a@ 8id 8
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C. 39 3alds o ARl & =, 31 3R Ud

D. Hifsar # faavu &1 dmn

E. SRt &1 A4, 31
fFafaied faeal 5 9 98l S 9 ;

1. ®3d A, C3RD
2. Pad A BIARE
3. PaA B, C3IRD
4. H3aC, DIARE
Options :
21052920165. 1
21052920166. 2
21052920167. 3
21052920168. 4

Question Number : 93 Question Id : 2105295108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In advertising, the credibility of the source is judged on two dimensions. They are:
A. Parallel dimension

B. Cognitive dimension

C. Access dimension

D. Affective dimension

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. B and C only
4. A and C only
Options :
21052920169. 1
21052920170. 2
21052920171. 3
21052920172. 4

Question Number : 93 Question Id : 2105295108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. H3d A 3R B
2. Paa B AR D
3. Pad B IR C
4. Had AR C
Options :
21052920169. 1
21052920170. 2
21052920171. 3
21052920172. 4

Question Number : 94 Question Id : 2105295109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Two perspectives that influenced propaganda theory in the 1930s are
A. Mass society view

B. Behaviourism

C. Freudianism

D. Media aggression

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only
Options :
21052920173. 1
21052920174.2
21052920175. 3
21052920176. 4

Question Number : 94 Question Id : 2105295109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. H3d A 3R B
2. PaaB AR C
3. PaA C IR D
4. H3AD 3R A
Options :
21052920173, 1
21052920174. 2
21052920175. 3
21052920176 4

Question Number : 95 Question Id : 2105295110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the main components of public relations?

A. Media relations

B. Publicity

C. Community relations

D. Psychological service

E. Financial management

Choose the correct answer from the options given below:

1. A, D and E only
2. A, B and C only
3. A, Cand D only
4. B, C and D only
Options :
21052920177. 1
21052920178. 2
21052920179. 3
21052920180. 4

Question Number : 95 Question Id : 2105295110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®Bdd A D IR E
2. Pad A, B3R C
3. PadA, C AR D
4. ®da B, C AR D
Options :
21052920177. 1
21052920178. 2
21052920179. 3
21052920180. 4

Question Number : 96 Question Id : 2105295111 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the importance of research in public relations?
A. To formulate strategy

B. To maintain discipline among the employees

C. To prevent crises

D. To compete with others

E. To measure success

Choose the correct answer from the options given below

1. A, C and E only
2. B, C and D only
3. A, Cand D only
4. C, D and E only
Options :
21052920181. 1
21052920182. 2
21052920183. 3
21052920184. 4

Question Number : 96 Question Id : 2105295111 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. DI S

B. SHANA! & s SR BIAH Sl
C. He FHarT
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E. §heidl @ ATYA]

1 fu 7w faeal # 9 Wel ST 94 -

1. BaA A, C 3R E
2. Paa B, C AR D
3.PaAC D3R A
4. H3aC, DIARE
Options :
21052920181. 1
21052920182. 2
21052920183. 3
21052920184 4

Question Number : 97 Question Id : 2105295112 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In what way is public relations similar to journalism?

A. They interact with people

B. They counsel on management issues

C. They gather information from different sources

D. Their objective is to change peoples attitude

E. They practice investigative journalism

Choose the correct answer from the options given below:

1. A, B and D only
2. A, Cand D only
3. B, C and E only
4. A DandE only
Options :
21052920185. 1
21052920186. 2
21052920187. 3
21052920188. 4

Question Number : 97 Question Id : 2105295112 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. T ST § TaTG B &
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c. 3 fofay 9l ¥ QT 9o &

D. S-1®1 3R TRT BT WG URad gial &
E. d SOYUNET® FAHIRAl 3 &

2 e e fawedl § @ 9t SR 9

1. ®3d A, B3R D
2. Pad A, C3RD
3.PaaC,BIARE
4. H3aAD, E3RA
Options :
21052920185. 1
21052920186. 2
21052920187. 3
21052920188. 4

Question Number : 98 Question Id : 2105295113 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The lay-out activity in a modern print newspaper involves the following elements
A. Formal balance

B. Contrast

C. Gaze-motion

D. Equal size

E. Grid

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3. B, C and E only
4. C, D and E only
Options :
21052920189. 1
21052920190. 2
21052920191. 3
21052920192. 4

Question Number : 98 Question Id : 2105295113 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Efrs

fFafaied faeal 5 9 98l S 9 ;

1. ®3d A, B3R C
2. Paa B, C 3R D
3. $aA B, C 3R E
4. H3aC, DIARE
Options :
21052920189. 1
21052920190. 2
21052920191. 3
21052920192. 4

Question Number : 99 Question Id : 2105295114 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Social change training model in developmental communication has its origins from the
following:

A. Western social psychology

B. Asian theories of communication

C. The Chinese model of socialism

D. Latin American educational communication

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and C only
4. A and D only
Options :
21052920193. 1
21052920194. 2
21052920195. 3
21052920196. 4

Question Number : 99 Question Id : 2105295114 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920193. 1
21052920194. 2
21052920195. 3
21052920196. 4

Question Number : 100 Question Id : 2105295115 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Simon Cutlip listed public relations assistance to marketing functions. They are;
A. Arranging for public appearances of marketing spokespersons,

B. Developing distribution channels to sell the products.

C. Probing public opinion in market areas.

D. Assisting the company in price fixation of the products.

E. Assisting programs concerning consumerism.

Choose the correct answer from the options given below:

1. A, B and C only
2. A, Cand E only
3. B, Cand D only
4. C, D and E only
Options :
21052920197. 1
21052920198. 2
21052920199. 3
21052920200. 4

Question Number : 100 Question Id : 2105295115 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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fFafaied faeal 5 9 98l S 9 ;

1. ®3d A, B3R C
2. Pad A C3RE
3.$ad B, C 3R D
4, ®dd C, D3IRE
Options :
21052920197 1
21052920198. 2
21052920199. 3
21052920200. 4

Question Number : 101 Question Id : 2105295116 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



William Hachten proposed the following normative theories that are spread all over the world :
A. Western

B. Revolutionary

C. Social responsibility

D. Democratic participant

E. Authoritarian

Choose the correct answer from the options given below

1. A, B and C only
2. B, C and D only
3. A, B and E only
4. C, D and E only
Options :
21052920201. 1
21052920202. 2
21052920203. 3
21052920204. 4

Question Number : 101 Question Id : 2105295116 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®3d A, B3R C
2. Paa B, C 3R D
3. PadA BIIARE
4. H3aC, DIARE
Options :
21052920201. 1
21052920202. 2
21052920203. 3
21052920204 4

Question Number : 102 Question Id : 2105295117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



International communication theories are drawn from the following conceptual frameworks
A. Theories of representation

B. Theories of rhetorics

C. Reception theories

D. Theories of identity

E. Theories of criticism

Choose the correct answer from the options given below:

1. A, Cand D only
2. B, C and E only
3.C, D and E only
4. A DandE only
Options :
21052920205. 1
21052920206. 2
21052920207. 3
21052920208. 4

Question Number : 102 Question Id : 2105295117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AP o Raid Faftiied siayRuEs TwREsi iR URd s
A. Tfceun figid

B. aTfHeT fagid

C. 3TeY fHsid

D. el fsid

E. FHICIEA sl

fFafaied faeal 5 9 98l S 9 ;

1.Bac A, CHR D

2. Haa B, C 3R E

3. PaqaC, D 3MRE
4, H3AD, EAR A
Options :
21052920205. 1
21052920206. 2
21052920207. 3
21052920208. 4

Question Number : 103 Question Id : 2105295118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Development of underdevelopment is described as a

A. Capitalist expansion

B. Zero-sum proposition

C. Core-periphery relations

D. Political compulsion

E. Ideological divide

F. By product of media dependency

Choose the correct answer from the options given below:

1. A, B and D only
2. A, Cand E only
3. A, Band C only
4. D, Eand F only
Options :
21052920209. 1
21052920210. 2
21052920211. 3
21052920212. 4

Question Number : 103 Question Id : 2105295118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. Goftarg f[a&R

B. B[ - GIT HIYROM

C. & - ORIy Tay

D. ekl faazrar

E. AaRYRIE® fGHToH

F. #ifsar FHuiar &1 gare

1 feu 7w fgoeul 7 € Uel [deey 7 -

1. ®3d A B3R D
2. Pad A C3RE
3.Pad A B3R C
4, ®dd D, EJRF
Options :
21052920209. 1
21052920210. 2
21052920211. 3
21052920212. 4

Question Number : 104 Question Id : 2105295119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The dominant paradigm of development was criticized for
A. It was pro-west

B. It was ethnocentric

C. Cultural imperialism

D. Focus on agriculture

E. Non-industrial development

Choose the correct answer from the options given below:

1. A, D and E only
2. A, B and C only
3. B, Cand D only
4. D, Eand F only
Options :
21052920213. 1
21052920214. 2
21052920215. 3
21052920216. 4

Question Number : 104 Question Id : 2105295119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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C. HiEpidd FHETsgaiG

D. BN W & - Had

E. R - SEif® faory

1 feu 7w fgoeul 7 € Uel [deey 7 -

1. ®Bdd A D IR E
2. Pad A, B3R C
3. PaA B, C3IRD
4 H3aD,E 3RF
Options :
21052920213 1
21052920214. 2
21052920215. 3
21052920216. 4

Question Number : 105 Question Id : 2105295120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are true of requirements for a newspaper?
A. It must be an irregular publication.

B. It can be issued periodically.

C. It must contain only news.

D. Such news must be public in character.

E. It can contain comments on public news.

Choose the correct answer from the options given below:

1. A, B and D only
2. A, D and E only
3. B, D and E only
4. C, D and E only
Options :
21052920217. 1
21052920218. 2
21052920219. 3
21052920220. 4

Question Number : 105 Question Id : 2105295120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. 39 3O0P ©U G Uh 3(OiHd UHEH ol 9iey

B. 34 MEf® ¥U ¥ U1 fovdl of 99dl o

C. 3T TGS €U Y Had THER g afet

D. U8 YHER @1 UPid A= & Gduli-id gl glied

E. SO Hovi-d G9ER! 93 [ewitE I of 96 o

e o e fawedt & € We fawen 9 -

1. ®3d A, B3R D
2. PadA, D IARE
3.%ad B, D3IRE
4. H3aC, DIARE
Options :
21052920217 1
21052920218. 2
21052920219. 3
21052920220. 4

Question Number : 106 Question Id : 2105295121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The amount of damages in the cases involving defamation depends upon factors such as
A. Social position of the plaintiff

B. Nature of imputation

C. Mode of publication

D. Unmitigating circumstances

E. Third-party intervention

F. Discretion of judicial authority

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, D and F only
3. B, Eand F only
4. A B and Conly
Options :
21052920221. 1
21052920222. 2
21052920223. 3
21052920224. 4

Question Number : 106 Question Id : 2105295121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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C. U @l fafy

D. SUIHATY yRiRfaTi

E. T4 U& BT 56T

F. iY@ USR] @1 [da®

1 fu 7w faeal # 9 Wel ST 94 -

1. ®Bad A, C AR D
2. Pad A D3RF
3. PaA B, E 3R F
4, HIAA BIAHR C
Options :
21052920221. 1
21052920222. 2
21052920223. 3
21052920224. 4

Question Number : 107 Question Id : 2105295122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are to be considered while editing a news copy?
A. Group nouns should always be considered as singular.

B. Use capital letters for business titles.

C. Be consistent in spelling.

D. Keep paragraphs short.

E. Write long headlines.

F. Use punctuation marks liberally in headlines.

Choose the correct answer from the options given below:

1. A, B and E only
2. A, Cand D only
3. B, Eand F only
4. D, Eand F only
Options :
21052920225. 1
21052920226. 2
21052920227. 3
21052920228. 4

Question Number : 107 Question Id : 2105295122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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B. SHau™ Hatl dm! & foe A 31aRT (@ fied ded) $1 vai &<
C. HIH® Tt B WA B3

D. URtwdg BI¢ 3@

E. T e (gsarg) fod

F. Tt # fgTaR! ®1 SaRagd® TarT &Y

- feu e famedl & 9 wel faded 9 ;

1. B3d A, B3R E
2. Pad A, C AR D
3. PaAB, E IARF
4, ®dd D, EJRF
Options :
21052920225 1
21052920226. 2
21052920227. 3
21052920228. 4

Question Number : 108 Question Id : 2105295123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the characteristic features of the positive paradigm in research?
A. Uses quantification

B. Mostly employed in natural sciences

C. Uses hypotheses

D. Does not depend upon quantification

E. Uses subjective measures

F. Highly literary

Choose the correct answer from the options given below:

1. A, E and F only
2. B, C and D only
3.D, Eand F only
4. A B and Conly
Options :
21052920229. 1
21052920230. 2
21052920231. 3
21052920232. 4

Question Number : 108 Question Id : 2105295123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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F. Sicfte ifeids
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1. Badd A E3RF
2. $aa B, C 3R D
3. PAAD, E3RF
4, HIAA BIAHR C
Options :
21052920229. 1
21052920230. 2
21052920231. 3
21052920232, 4

Question Number : 109 Question Id : 2105295124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Filmmakers of the Soviet Montage Movement used which of the following methods in their
work?

A. Tatami shots

B. Tonal editing

C. Over-tonal editing

D. Intellectual editing

E. Tachistoscopic displays

Choose the correct answer from the options given below:

1. A, B and E only
2. B, C and D only
3. B, C and E only
4. A B and D only
Options :
21052920233 1
21052920234. 2
21052920235. 3
21052920236. 4

Question Number : 109 Question Id : 2105295124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. B3d A, B3R E
2. Paa B, C 3R D
3.Pdd B, C IARE
4. H3dA B3R D
Options :
21052920233 1
21052920234. 2
21052920235. 3
21052920236 4

Question Number : 110 Question Id : 2105295125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Techniques which are commonly used in Continuity Editing are
A. Freeze frames

B. 180° Rule

C. Jump cutting

D. Match cutting

E. Eyeline matching

F. Symbolic inserts

Choose the correct answer from the options given below:

1. A, B and D only
2. B, E and F only
3. A, D and F only
4. B, D and E only
Options :
21052920237. 1
21052920238. 2
21052920239. 3
21052920240. 4

Question Number : 110 Question Id : 2105295125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gdddl HuTeA (bic=afe ufsfen ¥ mmad: Ugad glHarcl dd-id o :
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B. 180° &
C. o] Hfdi
D. HF BT

E. 315 QT3+ AT
F. Eifoe sac
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1. ®3d A B3R D
2. Pad B, E 3R F
3. PaaA, D IARF
4, $3daB, D3ARE
Options :
21052920237 1
21052920238. 2
21052920239. 3
21052920240 4

Question Number : 111 Question Id : 2105295126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Media texts can be used for

A. Solace

B. Identification

C. Escape

D. Voluntary acquisition

E. Unpredictable statements

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3.C, D and E only
4. A DandE only
Options :
21052920241. 1
21052920242. 2
21052920243. 3
21052920244. 4

Question Number : 111 Question Id : 2105295126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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E. HUTNRIT HYF
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1. ®3d A, B3R C
2. PadAB ,C 3R D
3. Paac,D IARE
4 H3dA DIHRE
Options :
21052920241 1
21052920242. 2
21052920243. 3
21052920244 4

Question Number : 112 Question Id : 2105295127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the rules of composition in photography?
A. Rule of thirds

B. Sunny 16 Rule

C. Golden Ratio

D. Rule of odds

E. 30 Degree Rule

F. Looney Il Rule

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, B and C only
3. B, D and F only
4. A Eand Fonly
Options :
21052920245. 1
21052920246. 2
21052920247. 3
21052920248. 4

Question Number : 112 Question Id : 2105295127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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B. 941 16 &
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1. ®3d A, C3RD
2. Pad A, B3R C
3. PaAB, D RF
4 BT A EIRF
Options :
21052920245, 1
21052920246. 2
21052920247. 3
21052920248, 4

Question Number : 113 Question Id : 2105295128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following do NOT require the application of confidentiality in media research?
A. Private information given by participants.

B. Health information of participants.

C. Observation in public places.

D. Activities in public.

E. Information in public records.

F. Promised anonymity.

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and E only
3.C, D and E only
4. D, Eand F only
Options :
21052920249. 1
21052920250. 2
21052920251. 3
21052920252. 4

Question Number : 113 Question Id : 2105295128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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F. ST g9

1 feu 7w fgoeul 7 € Uel [deey 7 -

1. HaAA, B3R C
2. PaaB, C ARE
3. ®aaC,DIARE
4.%dd D, E ARF
Options :
21052920249. 1
21052920250 2
21052920251. 3
21052920252. 4

Question Number : 114 Question Id : 2105295129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the main stages in public relations research?
A. |ssues of forecasting

B. Knowing the public

C. Planning media use

D. Consclidation of power

E. Employee loyalty

Choose the correct answer from the options given below:

1. A, B and E only
2. B, Eand D only
3. A, DandE only
4. A B and Conly
Options :
21052920253. 1
21052920254. 2
21052920255. 3
21052920256. 4

Question Number : 114 Question Id : 2105295129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. B3d A, B3R E
2. Pad B, E3RD
3. PAAE A 3R D
4. ®dd A, B3R C
Options :
21052920253 1
21052920254. 2
21052920255. 3
21052920256 4

Question Number : 115 Question Id : 2105295130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In a print media ocrganization, the staff functions include
A. Finance

B. Legal

C. Personnel

D. Public relations

E. Production

F. Marketing of advertised products

Choose the correct answer from the options given below:

1. A, D, Eand F only
2.B, D, Eand F only
3. A, B, Cand D only
4.C, D, Eand F only
Options :
21052920257. 1
21052920258. 2
21052920259. 3
21052920260. 4

Question Number : 115 Question Id : 2105295130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®dd A, D, E 3RF
2. PaAB, D, E 3RF
3. PAdA, B, CHR D
4. $3AC, D, E ARF
Options :
21052920257. 1
21052920258. 2
21052920259. 3
21052920260. 4

Question Number : 116 Question Id : 2105295131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

Theory Author

A. Cultural synchronization . Jiirgen Habermas
B.Cultural imperialism Il. W. Rowe and V. Shelling
C. Corporate colonization lIl. Cees Hamelink

D. Hybridization V. J. Tomlinson

Choose the correct answer from the options given below:

TA-1L,LB-IV,C-1L,D-1I
ZA-ILB-HULC-IV, D-1
JA-IV,B-LC-1Il, D-]l
4 A -NLB-IV,C-1LD-1
Options :

21052920261. 1
21052920262. 2
21052920263. 3
21052920264. 4

Question Number : 116 Question Id : 2105295131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A) (1), (B) - (IV), (C) - (1), (D) - {I1)
2. (A) (1), (B) - (), (C} - (IV}, (D) - (1)
3. (A) -(IV), (B) - (1) (C) - (1), (D) - (I1)

4. (A) -(1h), (B) - (IV), () - (), (D) - (1)
Options :

21052920261. 1
21052920262. 2
21052920263. 3
21052920264. 4

Question Number : 117 Question Id : 2105295132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List |

List Il

Newspaper

Editor

A, The Times of India

I. Pothan Joseph

B.The (Madras) Mail

Il. C. ¥. Chintamani

C. The Leader

lIl. Robert Knight

D. Deccan Herald

IV. Sir Charles Lawson

Choose the correct answer from the options given below:

TA-ILB-LC-IV,D-IlI
ZA-NLB-WV,C-1l, D-1
JA-IV,B-LC-1, D-I]l
4 A-1,B-ILC-1I, D-IV
Options :

21052920265. 1
21052920266. 2
21052920267. 3
21052920268. 4

Question Number : 117 Question Id : 2105295132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A) -(1), (B} - (1), (C) - (IV), (D) - (1)

2. (A) (1), (B) - (IV), (C) - (1), (D) - (1)

3. (A) -(IV), (B) - (1), (C) - (1), (D) - ({I1)

4. (A) (1), (B) - (1), (C) - (1), (D) - (1

Options :

21052920265. 1
21052920266. 2
21052920267. 3
21052920268. 4

Question Number : 118 Question Id : 2105295133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 1

Directors Films

A. Stanley Kubrick I. The Sacrifice
B.Vittorio De Sica Il. My Life to Live
C. Jean Luc Godard lIl. Shoeshine

D. Andrei Tarkowvsky IV. Lolita

Choose the correct answer from the options given below:

TA-ILB-LC-IILD-V
ZA-IV,B-LC-1, D-I]l
JA-IV,B-LC-1l, D-1
4 A-IILB-IV,C-1Il, D-1
Options :

21052920269. 1
21052920270. 2
21052920271.3
21052920272. 4

Question Number : 118 Question Id : 2105295133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A) (1), (BY - (1), (C) - (1), (D) - (IV)
2. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)
3. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)

4. (A) -(In), (B) - (IV), (C) - (1), (D) - (1)
Options :

21052920269. 1
21052920270. 2
21052920271. 3
21052920272. 4

Question Number : 119 Question Id : 2105295134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 1

Theory Proponent

A. Inoculation Theory |. Leon Festinger
B.Social Judgement Theory Il. Robert Abelson
C. Cognitive Dissonance Theory Il Wiliam McGuire
D. Cognitive Consistency Theory IV. Muzafer Sherif

Choose the correct answer from the options given below:

TA-INLB-ILC-1L,D-V
ZA-ILB-LC-IIl, D-IV
3A-IL,B-ILC-1Il, D-IV
4 A-IILB-IV,C-I, D-1I
Options :

21052920273. 1
21052920274. 2
21052920275.3
21052920276. 4

Question Number : 119 Question Id : 2105295134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 AR Gl -1 @l GHfera Hifern ;

gl -1 Tl -1l
i Hidues
A, SABOYA 1. o1 Bl
B. HITW AoiHe Wi 1. 31Ge aeE
C. dififeq fad-ergi 1. faferag ug 4 MR
D. diifed darRdl V. HHBR TR
i fou 7e fadsedl © O Ol I AU
1. (A) (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) (1), (B) - (1}, (€) - (1), (D) - (IV)
3. (A) -(1), (B) - (1), (C) - (1), (D) - (IV)

4. (A) -(1h), (B) - (IV), () - (), (D) - (1)
Options :

21052920273. 1
21052920274. 2
21052920275. 3
21052920276. 4

Question Number : 120 Question Id : 2105295135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

Technique Proponent

A. Bounce Lighting l. Hamid Naficy

B. Accented Cinema Il. Subrata Mitra

C. Camera Stylo lll. Bertolt Brecht

D. Distancing Effect V. Alexandre Astruc

Choose the correct answer from the options given below:

TA-ILB-IW,C-ILD-|
ZA-1L,B-ILC-1V, D-1I
JA-ILB-LC-IIl, D-IV
4 A-ILB-LC-1V, D-1I
Options :

21052920277. 1
21052920278. 2
21052920279. 3
21052920280. 4

Question Number : 120 Question Id : 2105295135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 AR Tt -1l &l GHfera B ;

gl -1 gl -1l
eI YiduiGgd

A G139 Tgfe | BT AT
B. UaeE fa=mT . o o
C. PH wIEal Il Seiee e
D.[3E T sthae V. HTFUSE U
i fou 7e fadsedl © O Ol I gAU

1. (A) (1), (B) - (IV), (C) - (1), (D) - (1)

2. (A) -(1), (B) - (1), (C) - (IV), (D) - (1)

3. (A) -(1), (B} - (1), (C) - (1), (D) - (IV)

4. (A) -(1), (B) - (1), (C) - (IV), (D) - (1)

Options :

21052920277. 1
21052920278. 2
21052920279. 3
21052920280. 4

Question Number : 121 Question Id : 2105295136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 1l

Element Description

A. Cartcon . Special content pages

B. Logo Il. To liven up the pages

C. Tear-out I1l. To identify particular sections
D. Supplements IV. For future reference

Choose the correct answer from the options given below:

TA-ILB-ULC-IV,D-I
ZA-NLB-WV,C-1 D-]l
JA-IV,B-LC-11, D-1I
4 A-ILB-IV,C-1, D-1I
Options :

21052920281. 1
21052920282. 2
21052920283. 3
21052920284. 4

Question Number : 121 Question Id : 2105295136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gl -1 Ol -1
Gl IEEELl
A, DT |. fo=iy fdwy % gy
B. T I1. g§1 @1 Slidd g1
C. dgE-3f13e 11, Tl Ws a2y &l ugdH &A1
D. OEHey v. yrat gy & forg
i fou 7e fadsedl © O Ol I AU
1. (A) (1), (B) - (), (C) - (IV}, (D) - (1)
2. (A) (1), (B) - (IV), (C) - (1) (D) - (I1)
3. (A) -(IV), (B) - (1) (C) - (), (D) - (101)

4. (A) -(11), (B) - (IV), (C) - (), (D) - (1)
Options :

21052920281. 1
21052920282. 2
21052920283. 3
21052920284. 4

Question Number : 122 Question Id : 2105295137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

Element Description

A. Puffery . Public Relations

B. Pseudo-Event 1. Advertising

C. Name-calling lll. Informal communication
D. Grapevine V. Propaganda

Choose the correct answer from the options given below:

TLA-WV,B-LC-1,D- Il
ZA-ILB-HULC-IV, D-1
JA-ILB-LC-1V, D-1I
4 A-IILB-ILC-1, D-IV
Options :

21052920285. 1
21052920286. 2
21052920287. 3
21052920288. 4

Question Number : 122 Question Id : 2105295137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 AR Gl -1 B Al PifeTe -

gl -1 -l
Gl [EEEWI
A 921 - IgTHR D] . 9 a®
B. @9 "l IRCEILE]
C. UHeg - GHfd 1. SIS daig
D.U [IUaE)) V. YTHE UaR
i fou 7e fadsedl © O Ol I g
1. (A) -(IV), (B) - (1) (C) - (), (D) - (111)
2. (A) (1), (B) - (), (C} - (IV}, (D) - (1)
3. (A) (1), (B) - {1}, (C) - (IV), (D) - (111)
4. (A) -(1n), (B) - (), (C) - (1), (D) - (IV)
Options :

21052920285. 1
21052920286. 2
21052920287. 3
21052920288. 4

Question Number : 123 Question Id : 2105295138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

Graphs Description

A. Line graph . Presents a frequency distribution

B. Histograph Il. Represents components parts

C. Lorenz curve lll. Shows changes in data relationship over a
period

D. Pie chart IV. Uses tweo quantitative variables

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-ILB-1L,C-IV, D-]I
JA-ILB-HLC-IV, D-1
4 A-IV,B-IILC-1, D-1I
Options :

21052920289. 1
21052920290. 2
21052920291. 3
21052920292. 4

Question Number : 123 Question Id : 2105295138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A, TIAIIS |1 AT de Wigd &l 6

B. BTG Il Y9ed & UGEUy B3d &

c.aNa &d | fedl guafafd o siws! o dey uRadd &1 gufdr g
D.UB TR |Iv. 595 ol A 931 &1 UgiT g ordl &

i fou 7e fadsedl © O Ol I AU
1. (A) (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) (1), (B) - (1), (©Q) - (IV), (D) - (1)
3. (A)

£

i), (B) - (H1), (C) - (V). (D) - (1)
4. (A) -(IV). (B) - (IN), (©) - (1), (D) - (i)
Options :

21052920289. 1

21052920290. 2

21052920291. 3

21052920292. 4

Question Number : 124 Question Id : 2105295139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List I

First newspaper publisher Country

A. Egenolph Emmel . India

B. Thomas Archer Il. The United States
C. Benjamin Harris I1l. Germany

D. James Augustus Hicky IV. England

Choose the correct answer from the options given below:

TA-1L,LB-LC-N,D-1i
ZA-ILB-IV,C-1, D-1l
JA-ILB-WV,C-Il, D-1
4 A-IV,B-ILC-1ll, D-1I
Options :

21052920293. 1
21052920294. 2
21052920295. 3
21052920296. 4

Question Number : 124 Question Id : 2105295139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 AR Gl -1 @l GHfera Hifern ;

gl -1 -l
THER U3 & UuH UeES Gy

A. TSHIEH THA | URd
B. Ul 3 11 Tgad T SERT
c. a1 efig 1. ST
DS Sy B! VAU
i fou 7e fadsedl © O Ol I g

1. (A) -(1), (B) - (1), (©) - (IV), (D) - {I1)

2. (A) (1), (B) - (), (C) - (1), (D) - (1)

3. (A) (1), (B) - (IV), (C) - (1), (D) - (1)

4. (A) (V). (B) - (1), (C) - (), (D) - (1)

Options :

21052920293. 1
21052920294. 2
21052920295. 3
21052920296. 4

Question Number : 125 Question Id : 2105295140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 1
Newspaper Country
A. Der Spiegel I. Russia

B. Pravo Il. Australia

C. National Observer

lll. The United Kingdom

D. The Economist

IV. Germany

Choose the correct answer from the options given below:

TA-ILB-ULC-IV,D-I
ZA-IV,B-LC-11, D-1I
JA-ILB-IV,C-1,D-1I
4 A-1L,B-IILC-ILD-WV
Options :

21052920297. 1
21052920298. 2
21052920299. 3
21052920300. 4

Question Number : 125 Question Id : 2105295140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



| -l
THERA Gy
A. SY T15 oid |. =9
B.Udl 11, e
SEEE R ICEGR Il G T3S fawrsH
D. G SEIE® V. ST
i fou 7e fadsedl © O Ol I gHU:
1. (A) (1), (B) - (), (C) - (IV}, (D) - (1)
2. (A) -(IV), (B) - (1) (C) - (), (D) - (1)
3. (A) (1), (B) - (IV), (C) - (1) (D) - (I1)

4. (A) -(1), (B) - (1), () - (1), (D) - (IV)
Options :

21052920297. 1
21052920298. 2
21052920299. 3
21052920300. 4

Question Number : 126 Question Id : 2105295141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following films of Girish Kasaravalli in the correct chronological order
A. Koormavathara

B. Ghattashraddha

C. Dweepa

D. Gulabi Talkies

E. Mane

Choose the correct answer from the options given below

T.B.A € D E
2B DECA
3.EDB C A
4EBCDA
Options :

21052920301. 1
21052920302. 2
21052920303. 3
21052920304. 4

Question Number : 126 Question Id : 2105295141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



R PRRAc & HorF H a1 HEfRad e ®f SrasadaR oaiyd Bl ;
A. THGAR
B. UCHSI

C. 8y

AW
&8
e -
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Options :

21052920301. 1
21052920302. 2
21052920303. 3
21052920304. 4

Question Number : 127 Question Id : 2105295142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following books as per the correct chronological order of their publication
A. The Achieving Society

B. Mass Media and National Development

C. The Process of Economic Growth

D. The Passing of Traditional Society

Choose the correct answer from the options given below

1.C,D AB
2.D,B C A
3.3ACBD
4B CAD
Options :
21052920305. 1
21052920306. 2
21052920307. 3
21052920308. 4

Question Number : 127 Question Id : 2105295142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A. G SrdifdT ST

B. HIY Hif$41 UUS A¥Hd SdagHe
C. & U I 3aiH® 9y

D. & UIRHT 3% <feuma giemer

SUYT GED! & FHIRH & HUR W 3% DIOHHITER Faredd Hiferg R i Gy 1y famedt &
H Hel I gHT;

1. (C), (D), (A), (B)
2. (D), (B),

3. (A), (C),

4. (B), (C), (ﬁ
Options :
21052920305. 1
21052920306. 2
21052920307. 3
21052920308. 4

Question Number : 128 Question Id : 2105295143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following organizations according to the chronological order of their formation
A. Indian Language Newspapers Association

B. Advertising Agencies Association

C. Indian and Eastern Newspaper Society

D. All-India Newspaper Editors' Conference

Choose the correct answer from the options given below

1.C,D AB
2D, CB A
3.B,ADC

4 A B D C
Options :
21052920309. 1
21052920310. 2
21052920311. 3
21052920312. 4

Question Number : 128 Question Id : 2105295143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A. 25T dge gouay TN

B. USacig o Toidis THIfugH

C. 3F5T UUs FE YoiUw Herad

D. 3iic - 51T oUW ufsed Sithd

3UYad T Dl BIhHYR G Ud Hiford 3R -id feu ¢ fadwedl # ¥ ¥gl 3w g

1.
2.
3.
4.

Options :

21052920309. 1
21052920310. 2
21052920311. 3
21052920312. 4

Question Number : 129 Question Id : 2105295144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Write the correct sequence of the following media events :
A. First Amendment to the US Constitution

B. Virginia Bill of Rights

C. Licensing Act

D. Areopagitica

Choose the correct answer from the options given below

1.ADCB
2ACBD
3.B.C DA

4 D,C B A
Options :
21052920313. 1
21052920314. 2
21052920315.3
21052920316. 4

Question Number : 129 Question Id : 2105295144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafiad o 98! o ha H Eafdd o1 ;
A, 3R & FiayH H guH g2y

. dfei-l [ &1 A5y

C. AU Uae

o A

Options :

21052920313. 1
21052920314. 2
21052920315.3
21052920316. 4

Question Number : 130 Question Id : 2105295145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange in the correct chronological order the following publications of the pre-independence
era:

A. Free Press Journal

B. Swarajya

C. Forward

D. New India

Choose the correct answer from the options given below

1.C,A B D
2.D,B C A
3.D,C B A
4.D A B C
Options :
21052920317. 1
21052920318. 2
21052920319. 3
21052920320. 4

Question Number : 130 Question Id : 2105295145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A. Tl - T oHa

B. TR

C. BhRds

D. gfadr

AT ¥ g4 & IUYE TBIRIFT & Fel DIeshd @1 UgdH B o [og i G771 fawedi # 4
eI FR gHU:

1. (C), (A). (B). (D)

2. (D), (B), (C), (A)

3. (D), (Q), (B), (A)

4. (D), (A). (B). (C)

Options :

21052920317. 1
21052920318. 2
21052920319. 3
21052920320. 4

Question Number : 131 Question Id : 2105295146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct chronological sequence of following presidents of Indian Newspapers
Society :

A. Ashish Bagga

B. Kundan Vyas

C. G. Narasimhan

D. Upendra Acharya

Choose the correct answer from the options given below

1.ADCB
2B CDA
3.ABCD
4 C, DB A
Options :
21052920321.
21052920322.
21052920323.
21052920324.

AW N~

Question Number : 131 Question Id : 2105295146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1S9 YoiuR gl & FafiRad sfeelf & 9] oo o UgdiHu ;
A, SATRTY T
B. PG A
C. SRR
D. Qug 3=

1.
2.
3.
4.

Options :

21052920321. 1
21052920322. 2
21052920323.3
21052920324. 4

Question Number : 132 Question Id : 2105295147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Find out the correct sequence of media research phases as suggested by Wimmer and
Dominick :

A. Medium

B. Media effects

C. Media improvement

D. Uses and users of medium

Choose the correct answer from the options given below

1.A B DC
2ADCB
3.ADBC

4 A C DB
Options :
21052920325. 1
21052920326. 2
21052920327. 3
21052920328. 4

Question Number : 132 Question Id : 2105295147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



faHR 3R S gR1 fGU T Uaid & 38R HiiSal 2y & =100l $f el HH H aiyd Bt ;
A. FTEH

B. Hifsar yHE

C. Hilsar g4R

D. {1 ®1 Y41 3R 39& TarHdl

i feu ¢ famedl # 9 wel I g :

1.
2.
3.
4.

Options :

21052920325. 1
21052920326. 2
21052920327. 3
21052920328. 4

Question Number : 133 Question Id : 2105295148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the logical sequence of developmental phases :
A. Assessing actions

B. Planning procedure

C. Identifying problems

D. Goal setting

Choose the correct answer from the options given below

1.ACBD
2.C, D B A
3.ADBC
4B CDA
Options :
21052920329. 1
21052920330. 2
21052920331. 3
21052920332. 4

Question Number : 133 Question Id : 2105295148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



G & o0l & Wl o H Bl Ugdi- ;

A. BT BT HediPH

B. T AT ufafy

C. g B UgdH

D. @igd - FRuior

e fau g faeeul ¥ wet s g

1.
2.
3.
4,
Options :

21052920329. 1
21052920330. 2

21052920331. 3
21052920332. 4

Question Number : 134 Question Id : 2105295149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct chronological order of the following transborder broadcasting

corporations

A. Voice of America

B. BBC World Services

C. All India Radio

D. Voice of Russia

Choose the correct answer from the options given below

1.D,A B, C
2.D,B C A
3.B,ADC
4B CDA
Options :
21052920333. 1
21052920334. 2
21052920335.3
21052920336. 4

Question Number : 134 Question Id : 2105295149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafaiad SR gaR 7 & ol SIasd ©f Ugad difd ;
A. digd S5 HRST
p. ot ot U1 ace Gfdg

o A

Options :

21052920333. 1
21052920334. 2
21052920335.3
21052920336. 4

Question Number : 135 Question Id : 2105295150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the sequence of elements in the Johari window ;
A. Blind

B. Hidden

C. Unknown

L. Open

Choose the correct answer from the options given below

1.B,C,AD
2D, A B, C
3.D,C B A

4 D,B A C
Options :
21052920337. 1
21052920338. 2
21052920339. 3
21052920340. 4

Question Number : 135 Question Id : 2105295150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SiigR] fds! & dodl & oH &I Ugd dioig ;
A. 3Tl (Blind)

B. U=sd

e

Options :

21052920337. 1
21052920338. 2
21052920339. 3
21052920340. 4

Question Number : 136 Question Id : 2105295151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: The Latin American view of developmental communication was not ‘being in the
world'.

Reason R: Their concept of developmental communication introduced a high level of
epistemology aimed at understanding social reality.

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052920341. 1

21052920342. 2

21052920343. 3

21052920344. 4

Question Number : 136 Question Id : 2105295151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TGl oY RU TN T : U & AU (A) R GO & d& (R) Bel T g
DY (A) : [THEES T9R &1 dlicH SHR®! SPen §9R | sifioa § 78 sld o
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Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHT U8l € SIR (R), (A) B! Hol U 5

2. (A) 3R (R) GFT T&l & b (R), (A) B Yl AR T8l ¢
3. (A) W8l & foeg (R) WEl BT B

4. (A) HE1 781 § o (R) BRI B

Options :

21052920341 1

21052920342, 2

21052920343, 3

21052920344, 4

Question Number : 137 Question Id : 2105295152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: Media grammar represents one of the basic foundations of media studies.

Reason R: An understanding of media is dependent upon an understanding of the unique
presentation of messages of each medium.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052920345. 1

21052920346. 2

21052920347. 3

21052920348. 4

Question Number : 137 Question Id : 2105295152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920345. 1

21052920346. 2

21052920347. 3
21052920348. 4

Question Number : 138 Question Id : 2105295153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as

Reason R

Assertion A: Media oligopoly is a reality of the twenty-first century.
Reason R: Technology induced hybridization of analogue and digital media is consolidated
into the control of a very few rich and powerful owners across the globe.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052920349. 1

21052920350. 2

21052920351. 3

21052920352. 4

Question Number : 138 Question Id : 2105295153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920349. 1

21052920350. 2

21052920351. 3

21052920352 4

Question Number : 139 Question Id : 2105295154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: Any feminist media eruption produces new theoretical frameworks in media
studies.

Reason R: Feminist structural narratives have survived despite post-feminist arguments aimed
at the patriarchal backlash.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052920353. 1

21052920354. 2

21052920355. 3

21052920356. 4

Question Number : 139 Question Id : 2105295154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. (A) HEI 81 € fod (R) TEI B

Options :

21052920353. 1

21052920354, 2

21052920355. 3
21052920356. 4

Question Number : 140 Question Id : 2105295155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: Freedom of speech and expression should not be extended to Indian companies
in the light of constitutional mandate.

Reason R: The Indian Constitution does not recognize the companies as citizens and any
proposal to provide such freedom needs a constitutional amendment.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052920357. 1

21052920358. 2

21052920359. 3

21052920360. 4

Question Number : 140 Question Id : 2105295155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920357. 1

21052920358. 2

21052920359. 3

21052920360. 4
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Sub-Section Number : 2
Sub-Section Id : 210529157
Question Shuffling Allowed : Yes

Question Id : 2105295156 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension



Read the given passage and answer the questions that follow

Prominent politicians, pundits and commentators regularly emphasise how new ICT and 'info-
structures' are leading to an entirely new kind of 'information society' or 'digital economy’.
Even that hero of the long political struggle for change in South Africa, Nelson Mandela, has
been occasionally mobilised to extol the promises of "a world-wide information society”. A core
feature of the many national and global information society initiatives in the 1990s has been
universal stress on the pervasive benefits of new ICT. Irrespective of national origin, the
pervasive prophesy is that we are entering an entirely new kind of "informaticn society'. Both
new ICT and information are defined as increasingly central to all aspects of economic, political
and cultural activity and the key drivers of radical social change. Thus as we enter the new
millennium, to admire and enthuse over technology and its presumed social or economic
benefits has become highly fashionable compared to the 1970s.

We are on the way to a new economic and social system based on new ICT and information
structures, one which is fundamentally different to the kind of social and economic order
which has prevailed since the industrial revolution. These discourses adopt a very particular
and flawed view of the historical significance of new ICT and changing information structures
and define these as midwives for a transition to a radically new socio-economic order. More
importantly, they tend to define these technology-based innovations as intricately linked to
(determining) the adoption of a singular path of socio-economic development. Frequently, the
perceived characteristics of new ICT are deemed to match or require a specific political
economy and cluster of social values. These analyses tend to privilege a rather optimistic and
one-sided view of prevailing socio-economic trends. For example, they stress a rapid growth in
the number and range of 'high-level, grey-matter’ occupations within the audiovisual,
multimedia and other information or 'content-rich’ industries.

Sub questions

Question Number : 141 Question Id : 2105295157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The global information society emphasizes on

1. Expanding IT benefits to society

2. Testimonials from technocrats

3. Widening of digital divide

4. Involvement of prominent citizens in accessing ICT
Options :

21052920361. 1

21052920362. 2

21052920363. 3

21052920364. 4

Question Number : 142 Question Id : 2105295158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What will be the effect of ICT on economy as defined in the passage?

1. Limited view of ICT perspective

2. Increase in cultural activities

3. Ushering in radical social change

4. Funding of political activities by ICT companies
Options :

21052920365. 1

21052920366. 2

21052920367. 3

21052920368. 4

Question Number : 143 Question Id : 2105295159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the trend in new millennium?

1. Focus on fashionable trends in 1970s

2. Nelson Mandela's appeal for economic growth
3. Admiring the benefits of ICT

4. Prophesying industrial growth

Options :

21052920369. 1

21052920370. 2

21052920371. 3

21052920372. 4

Question Number : 144 Question Id : 2105295160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What will be the perceived feature of ICT?

1. A suppeort to a specific political order

2. A disruption of social values

3. An emergence of new autocratic system
4. A flawed view of the history

Options :

21052920373. 1

21052920374. 2

21052920375. 3

21052920376. 4

Question Number : 145 Question Id : 2105295161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



How do people consider skilled occupations?

1. Increase in employability in media industries

2. Reduction in 'grey-matter’ jobs

3. Stagnation of opportunities in ‘content-rich’ industries
4. Less scope for high-level jobs in audio-visual industries
Options :

21052920377. 1

21052920378. 2

21052920379. 3

21052920380. 4

Question Id : 2105295156 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 2105295157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920361. 1

21052920362 2

21052920363. 3

21052920364. 4

Question Number : 142 Question Id : 2105295158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920365. 1

21052920366. 2

21052920367. 3

21052920368. 4

Question Number : 143 Question Id : 2105295159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920369. 1

21052920370. 2

21052920371. 3

21052920372 4

Question Number : 144 Question Id : 2105295160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920373. 1
21052920374. 2
21052920375. 3
21052920376. 4

Question Number : 145 Question Id : 2105295161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920377. 1

21052920378 2

21052920379. 3
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Sub-Section Number : 3
Sub-Section Id : 210529158
Question Shuffling Allowed : Yes

Question Id : 2105295162 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
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Question Numbers : (146 to 150)

Question Label : Comprehension



Read the passage carefully and answer questions that follow

In addition to the contingencies presented by social or historical contexts, the regulation of
American media must also respond to a particular set of regular or ever-present contingencies
unique to the American context. It may seem strange to you that a factor can be both regular
and contingent. Pragmatism itself hinges on a rejection of constants. However, it is important
to understand that these factors are regular in their presence but contingent upon one another
at any given time. In other words, government regulation must always respond to these
particular factors, and the best regulations balance them, but the degree tc which one is
valued over the other varies from moment to historical moment.

The first set of regular contingencies is the tension between free speech and public interest.
The freedoms of speech and press granted by the First Amendment of the US Censtitution
guarantee the open expression of ideas and the existence of media outlets beyond federal
ownership and control. A media industry that is able to report freely and comment upon
events functions as an informal check in the American political system. Taken together, the
twin freedoms often give good reason to hold back government regulation that might impede
or censor the free circulation of ideas. At the same time, a completely independent media
would quickly fall apart. Prior to the government regulation of the radio industry, different
private companies would often use the same airwaves and inadvertently jam one another's
signal. Before the advent of government-regulated telephone service, It was often necessary
for families to possess multiple telephones, one for each privately maintained phone network
to which they subscribed. Thus, at times it is necessary for the government to intervene in the
interest of the public in order to make a media industry more efficient. The resulting tension
between the regular contingencies of free speech and public interest represents a uniquely
American dichotomy that debates about government regulation must always consider.
Typically, the dominant social norms or political climate of the age will direct which concept
trumps the other in relation to regulation. Quality regulation, however, should always consider
both.



Sub questions

Question Number : 146 Question Id : 2105295163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Even though pragmatism rejects constants, why does it play a different role in the American
context?

1. Because the American media should be regulated

2. Because American media should respond to unique contingencies which are contextual
3. Because American media should become pragmatic

4. Because social or historical contexts are irregular constants

Options :

21052920381. 1

21052920382.2

21052920383. 3

21052920384. 4

Question Number : 147 Question Id : 2105295164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

When it comes to media regulation, what is the status of pragmatism?

1. Certain factors are contingent on each other.

2. Government should interfere to make regulations pragmatic.

3. Pragmatic freedom creates tension.

4. Government regulation should be balanced keeping historical factors in view.
Options :

21052920385. 1

21052920386. 2

21052920387. 3

21052920388. 4



Question Number : 148 Question Id : 2105295165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The First Amendment to the American constitution guaranteed

1. Balanced regulation

2. Freedom from government control
3. Reasonable censorship on media
4. Control of broadcast industry
Options :

21052920389. 1

21052920390. 2

21052920391. 3

21052920392. 4

Question Number : 149 Question Id : 2105295166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Media industry will become more efficient if there is

1. Free competition among media outlets

2. Unlimited free expression

3. Government intervention to regulate media in pubic interest
4. Dominant social norm to prevail over freedom of opinion
Options :

21052920393. 1

21052920394. 2

21052920395. 3

21052920396. 4

Question Number : 150 Question Id : 2105295167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Quality regulation of media means

1. Rejection of media freedom

2. Limiting circulation of new ideas

3. Tension between free speech and regulation is warranted
4. Consideration of both political climate and social norms
Options :

21052920397. 1

21052920398. 2

21052920399. 3

21052920400. 4

Question Id : 2105295162 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 2105295163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920381. 1

21052920382. 2
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21052920384. 4

Question Number : 147 Question Id : 2105295164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920385. 1

21052920386. 2

21052920387. 3

21052920388. 4

Question Number : 148 Question Id : 2105295165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920389. 1
21052920390. 2
21052920391. 3
21052920392. 4

Question Number : 149 Question Id : 2105295166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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4, H{fid 3 Wdadl W WE o 9faaH iy 8l
Options :

21052920393 1

21052920394, 2

21052920395. 3

21052920396. 4

Question Number : 150 Question Id : 2105295167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Hifgar & qunds fafFgaa T Hfitd g

1. HifSTr S Tad=d1 3dlidpd Bl

2. 9 faaR &1 uiare- difid dA1

3. I a0 AR [AfFTeE & 9 o9rd oféa 8
4, IoHITa® el SR gifee ufaaH W faar
Options :

21052920397. 1

21052920398. 2

21052920399. 3

21052920400. 4



